






085 lMRDOCMS51830CA104L 
085 lMRDOCMS51957-17 
085 lMRDOCMURI30 
085 1MRDOCNASll02E08-12 
085 lMRDOCNASl351N3-24 
085 lMRDOCNASl352N04-8 
085 1MRDOCNASI352N06-14 
085 1MRDOCNAS62OC-ll 
085 1MRDOCNC7S04M5X 
085 lMRDOCNKE1212SC 
085 1MROOCNMH1205SC 
085 1MRDOCNV55LS8llTTPEEK 
085 lMRDOCOB-200-16 
085 lMRDOCPI5Al00W 
085 lMRDOCPMSSS 440 0050 PH 
085 1MRDOCPV36Wl03COl BOO 
085 lMRDOCR1B«; 
085 lMRDOCR2004525 
085 1MRDOCRCOl103FR-(l7100KL 
085 lMRDOCRCOl103FR-(l710KL 
085 lMRDOCRC0603FR-(l74R99L 
085 lMRDOCRD37Fl00E2S 
085 1MRDOCRG l608N-913-8-T1 
085 1MRDOCRK73H1JlTDl963F 
085 lMRDOCRR0816P-3242-a-M-T5-5OC 
085 lMRDOCRRl220p·1652-a-M·T5 
085 1MRDOCRR 1220P.249O-8-M-T5 
085 1MRDOCRRl220P-331-B-T5 
085 lMRDOCSN74ACT11D 
085 lMROOCSN74lVC2GOODCTR 
085 1MRDOCSN74lVC2G08OCTR 
085 lMRDOCSN74lVC2G1570CTR 
085 lMRDOCSP5-S4 
085 lMRDOCSR757 
085 lMROOCS5-600-1~T 

085 lMR~-2-4ST 

085 1MRDOCS5-WO-P 
085 lMRDOCSS-CHS4-8U-ll3 
085 lMRI>OCSS-CSC4-4U 
085 1MRD0CS5-T4-5-035-1 
085 1MRDOCSUPER4 
085 1MROOCTNPW08051003BT9 
085 1MRDOCTNPW08052OO1 BT9 
085 1MRDOCTNPW08054991BT9 
085 lMRDOCVJ0603Al01JAACW1BC 
085 1MRDOCVlT-&-3OOO-LF 
085 1MRDOCVS-5G-S02 
085 1MRDOCWOl2008B 
085 1MRDOCWHASROFT 
085 lMRDOCZ-OOll 
085 2ASSBL6008081EOl1505-OO-F00l 
085 2ASSBL6008081EOl 15Q6.OO-F00l 
085 2ASSBL6OO8OE01A01~0001 

085 2ASSBL60081 DC POWER TESTCABlE 
085 2ASSBl60081 EOl Ao12-(ll..f001 
085 2ASSBL60081EOl Ao13-(ll..f001 
085 2ASSBL60081E01A01~001 

MAll. 
MATL 
MAll. 
MATL 
MAll. 
MAll. 
MATL 
MAll. 
MATL 
MAll. 
MATL 
MAll. 
MA.ll. 
MAll. 
MA.TL 
MAll. 
MA.ll. 
MA.TL 
MATL 
MAll. 
MAll. 
MA.TL 
MATL 
MATL 
MA.TL 
MA.ll. 
MA.ll. 
MA.TL 
MATL 
MATL 
MATL 
MAll. 
MAll. 
MAll. 
MATt 
MATl 
MATt 
MATl 
MATL 
MATt 
MATt 
MATt 
MATL 
MATt 
MATt 
MATt 
MATt 
MATt 
MATL 
MATt 
MATt 
MATL 
MATl 
MATt 
MATt 
MATt 
MATt 

THREA.DEDINSERT. 8-32 LOCKING KEY. 11.286 
Scrww 4-40 1/2 PHPS 
DIODE ULTRAFAST 111. 300V AXIAL 
SCREW MACHINE FLAT 100 #8-3 
Scrww lG-32 (.1900) UNRF-3A X 
SCREW HEX HEAD 
SCREW 6-32 X 7/8 Inch SHCS 11.286 
WASHER FLAT 113 REDUCED 00 
L~ Process CompatibleYes, Peak Reftow Co~bIe 

Vf6'J Low Power (25OmW-1W) DC-OC COI1IIerters - SIP lW 
Low Power (1 5W·gw) DC-oC Converters - SIP 2W 
A.-LOKCOMPRESSION FiniNG 
TWO PART EPOXY 
IC Quad SPOT Analog SW 16-S01C 
SCnIwMachine Phil 4-4OX112 SS 
TRIMPOT CERM 10K OHM 25TRN TOP 
Ring Tongue Solderless TllflTlinal Wire 22-18 
THERMOSTAT 45 DEG C NC FASTON 
lOOK l00ppm SM RES-THICK FILM 06031% 1110W 
10.OKl00ppm SM RES-THICK FILM 0603 10/.1I10W 
RES 4 99 OHM 1I10W 1% 0603 
37 Socket D-Type Conneclor 
Resistor91k .1% 0603 
ResiSlOr. 1961< O.lW 1% 0603 
THIN FILM RESISTOR 
THIN FILM RESISTOR 
THIN FILM RESISTOR 
THIN FILM RESISTOR 
IC TRPL 31NPOS-ANO GATE 14-S01C 
Logic • Gates SSOP-ll Dual 2-lnPlAPos 
PackagetCase:8-SS0P; LeadedProcess Compatible:Yes, 
IC 2-1LINE DATA SELECTIMUX 8SS0P 
4' WAFER CARRIER 
Relief Filling; 314"strain 
Connector MALE 
MALE CONNECTOR 
3/8' Plugs 
Check Valve 
Hy-lok Male Connector 
Hy-lok 1/4' 00 Tubing 10' Length 
Super Ball Bushing 
THIN FILM RESISTOR 
THIN FILM RESISTOR 
THIN FILM RESISTOR 
0603 Ceramic Chip Capacitors l00pF SOvoIts 5% COG5% 
ACIDC Power Supply 60W Triple Olt 5V@8A, Lead Free 
Ligtl DUly Retaining Ring 
120GB WD Caviar, 7200 RPM 2MB Cache 
RES 50 OHM 112W1% WW AXIAl 
318'X 0.125' RBl0 BALLSCREW. 11/43' STROKE LENGTH 
PCl04-SERIAl INTERFACE BOARD 
PC104-MUlTIFUNCTION BOARD 
BXF Wl02 CABLE ASSEMBLY 
DC POWER TEST CABLE (EMI & THERMAL) 
Wl0l Cable Assembly 
Wl02 CABLE A.SSEMBLY 
Wl03 CABLE A.SSEMBLY 

900
 
4000
 
10.00
 
60.00 
8.00
 
4.00
 
400
 

30.00 
5.00 
3.00
 
900
 
300
 
1.00 
5.00 

100.00
 
500
 
1.00
 
500
 

25.00 
27500
 

700
 
300
 

100.00 
150.00 

20.00
 
20.\;0
 
20.00
 
2000
 
5.00 
5.00 
5.00 
500
 

3000
 
1.110 
6.00
 
500
 
l.toO
 
1.00
 
700
 

40.00 
3.00
 

2000
 
20.00 
20.00 
50.00 
4.00
 
6.00
 
600
 
5.00 
1.00
 
100
 
100
 
2.00 
1.00 
1.00 
1.00 
1.00 

148925
 
01800
 
0.3710
 
1.1942
 
05200
 
10000
 
0.5500
 
0.0303
 
00580
 
83500
 

139800
 
2100000
 

520000
 
21600
 
00405
 
08500
 
0.0000
 
84000
 
00680
 
0.0250
 
0.0771
 

289200
 
05040
 
00300
 
0.5030
 
0.5030
 
05030
 
0.5030
 
04500
 
03200
 
0.4800
 
0.4800
 
3.6956
 
46800
 

10.1000
 
411000
 
5.3000
 

46.2000 
6.5000 
3.7000 

13.5000 
06400 
06400 
04420 
00600 

528600 
02383 

n9900 
08000
 

145.6800
 
280 0000
 
495.0000
 

1.2600
 
454200
 

2973400
 
508.0800
 
2463100
 

13403
 
7.20 
3.71 

7165
 
416
 
400
 
220
 
091
 
029
 

2505
 
12582
 
630 00
 
5200
 
1080
 
405
 
425
 
000
 

4200
 
1 70
 
687
 
054
 

86 76
 
5O..w
 
450
 

1006
 
1006
 
1006
 
1006
 
225
 
160
 
240
 
240
 

110.87
 
468
 

60 60
 
20550
 

5.30
 
4620
 
4550
 

14600
 
4050
 
1280
 
1280
 
884
 
300
 

21144
 
1.43
 

43794
 
400
 

14568
 
28000
 
49500
 

252
 
4542
 

29734
 
50808
 
246 31
 



085 2ASSBL60081E01A01~FOOl MATL W201 CABLE ASSEMBLY 1.00 6580100 65801085 2ASSBL60081E01A016~001 MATL BXF W202 CABLE ASSEMBLY KIT LIST 100 5880200 588 02 085 2ASSBL60081 E01AOl6-00-F002 MATL BXF W202 CABLE ASSEMBLY 1.00 749500 7495085 2ASSBL60081 E01A017-{)1-FOOl MATL W203 CABLE ASSEMBLY 1.00 418.2300 41823085 2ASSBL60081E01A01~FOOl MATL BXF ASSY, W204 CABLE 100 309.9300 309 93 085 2ASSBL60081 EO1A02ll-OO-FOOl MATL W302 CABLE ASSEMBLY 100 608900 6089085 2ASSBL60081 E01A021-{)1-FOOl MATL W3Q3CABLE ASSEMBLY 1.00 5919400 59194085 2ASSBL60081E01A501~001 MATL 2 7MM MABE EC BOARD ASSEMBLY 1.00 925.1600 92516085 2ASSBL60081E01A501~F002 MATL 2.7MM MABE EC BOARD ASSEMBLY 100 1,6582500 1.65825085 2ASSBL60081EOl A507-{)O-FOOl MATL MLC FEEDTHRU 1.00 5.6700 567085 2ASSBL60081 EOl ASJ7-{)O-F002 MATL MLC FEEDTHRU 100 56700 567085 2ASSBL60081 E01A517-{)O-FOOl MATL HARD DRIVE ASSY/CARRIER 100 160.1000 16010085 2ASSBL60081 E01A517-{)O-F002 MATL HARD DRIVE ASSYICARRIER 100 1601000 160 10 085 2ASSBL60081E01A517-{)O-FOO3 MATL HARD DRIVE ASSY/CARRIER 100 1601000 16010085 2ASSBL60081 E01A517-{)O-FOO4 MATL HARD DRIVE ASSYICARRIER 1.00 160.1000 16010085 2ASSBL60081E01A51~001 MATL 7 OMMMABE HEATER CONTROL PCB 100 1.6609100 1,660 91 085 2ASSBL60081 EOl M50~OOl MATL BXF PC-l04 DUAL ETHERNET CPU BOARD 100 3650000 36500085 2ASSBL60081 EOl M511~A14497 MATL HARD DRIVE CARRIER BOARD ASSEMBLY 100 469100 4691085 2ASSBL60081E01 M511-{)o-BQ64831 MATL HARD DRIVE CARRIER BOARD ASSEMBLY 1.00 46.9100 46 91 085 2ASSBL60081 E01M511-{)O-8S10490 MATL HARD DRIVE CARRIER BOARD ASSEMBLY 1.00 46 9200 4692085 2ASSBL60081 E01M511~S50282 MATL HARD DRIVE CARRIER BOARD ASSEMBLY 100 469100 4691085 2ASSBL60081E01M511-{)O-8S50310 MATL HARD DRIVE CARRIER BD ASSY 100 469100 46 91 085 2ASSBL60081 EOl M511-{)o-BS50J36 MATL HARD DRIVE CARRIER BOARD ASSEMBLY 100 46.9100 4691085 2ASSBL60081E01M513~Sl4584 MATL SCSI BOARD 100 68.6300 68 63 085 2ASSBL60081 EOlM51~S14580 MATL SCSI BOARD 1.00 68.6300 6863085 2ASSBL60081E01M514-{)O BS14580 MATL DISPlAY BOARD 100 686300 68.63085 2ASSBL60081E01M51~BSl4584 MATL DISPlAY BOARD 100 686300 68 63 085 2ASSBL60081E01M51~004 MATL CAMERA BIW, CCD, VIBE, CONFORMAl COAT 1.00 4950000 49500085 2ASSBL60081E01M51~005 MATL CAMERA BIW, CCD. VIBE, CONFORMAl COAT 100 495.0000 49500085 2ASSBL60081 EOlM516-00-WMACM147 MATL HARD DRIVE ASSEMBLY/CONFORMAL COAT 1.00 114.0000 114.00085 2ASSBL60081E01P51Q-{)O-BAl4497 MATL HARD DRIVE CARRIER ASSEMBLY 100 45.5800 4558085 2ASSBL60081E01P512~Sl4584 MATL RECENING FRAME KIT 100 137.2600 137.26085 2ASSBL60081M01A121~001 MATL NPBX CAMERA #1 ASSEMBLY 100 1,699.3300 1,699 33 085 2ASSBL60081 M01A122-OC-FOOl MATL NPBX CAMERA #2 ASSEMBLY 100 1,6198800 1,61988085 2ASSBL60081 MOlA148-{)O-FOOl MATL Cooling Chamber Housing Bonding Assy 100 3.1147200 3,114.72085 2ASSBL60081M01A20~F002 MATL NPBX HEATER HOUSING ASSEMBLY 100 2.125.1200 2,12512085 2ASSBL60081 MOlA209ClliAL-{)O-FOOl MATL NPBX HEATER HOUSING ASSEMBLY 100 2,751.0600 2,751.06085 2ASSBL60081M01A2~TEST-{)04 MATL NPBX HEATER HOUSING ASSEMBLY 100 1,1188900 1,11889085 2ASSBL60081M01A2~TEST-{)o5 MATL NPBX HEATER HOUSING ASSEMBLY 1.00 1.218.4200 1,21842085 2ASSBL60081 MOl A217-{)O-FOOl MATL Cooling Chamber Cowr Assembly 100 4.104.9300 4,10493085 2ASSBL60081M01A21~001 MATL MABE MIRROR 1 ASSEMBLY 1.00 1,570.0000 1,57000085 2ASSBL60081M01A21~FOOl MATL MABE MIRROR 2 ASSEMBLY 100 1.0950000 1,095 00 085 2ASSBL60081 M01A220-{)O-FOOl MATL NPBX MIRROR 1 & 2 ASSEMBLY 100 2,115.0000 2,11500085 2ASSBL60081MOl A221-{)O-FOOl MATL NPBX MIRROR 3 ASSEMBLY 100 1,425.0000 1,42500085 2ASSBL60081M01A221~F002 MATL NPBX MIRROR 3 ASSEMBLY 100 1,4250000 1,42500085 2ASSBL60081MOl A222-{)o-FOOl MATL ConlailYT1l!nt Vessel Housing Assy 100 9,2374700 9,23747085 2ASSBL60081M01A22~001 MATL CV CONNECTOR BOX ASSEMBLY 100 2.7631600 2.76316085 2ASSBL60081 M01A22~001 MATL HSC MIRROR ASSEMBLY 1.00 1.8243300 1.82433085 2ASSBL60081 MOlA226-{)0-FOOl MATL HIGH SPEED CAMERA ASSEMBLY 100 6765200 67652085 2ASSBL60081 M01A226-00-F002 MATL HIGH SPEED CAMERA ASSEMBLY 100 7215200 72152085 2ASSBL60081 M01A229-001 MATL PreSSUl1! System Assmbly 100 9,187.3300 9.18733085 2ASSBL60081 MOl A254-00-FOOl MATL HI SPEED CAMERA PROCESSOR ASSY 100 36,9228200 36,92282085 2ASSBL60081 M01A254-OO-F002 MATL HI SPEED CAMERA PROCESSOR ASSY 100 37,570.2000 37.57020085 2ASSBL60081M01A261-{)O-FOOl MATL NPBX MIRROR 1 & 2A ASSEMBLY 100 2,0550000 2,05500085 2ASSBL60081M01A32~001 MATL PUMP ASSEMBLY, SECONDARY 100 3,6836700 3,68367085 2ASSBL60081 MOl A327~FOOl MATL PUMP ASSEMBLY, PRIMARY 100 3,6836700 3.68367085 2ASSBL60081M01A406-€NG1 MATL ASSY, Grounding Strap 1.00 58000 580 



085 2ASSBL60081M01A406-ENG2 
085 2ASSBL60081M01C147-OD-F001 
085 2ASSBL60081M01C182-oo-FOO3 
085 2ASSBL60081M01C1~001 

085 2ASSBL60081M01C192-oo-F001 
085 2ASSBL60081M01C192-oo-F002 
085 2ASSBL60081M01C1~002 

085 2ASSBL60081 M01C285-00-E0461 
085 2ASSBL60081M01C285-00-E0462 
085 2ASSBL60081M01C285-OO-E0464 
085 2ASSBL60081M01C285{K}f0468 
085 2ASSBL60081 M01C285-OO-E0475 
085 2ASSBL60081M01C2~2430 

085 2ASSBL60081 M01C2l15-Oll-M2431 
085 2ASSBL60081M01C28~2432 
085 2ASSBL60081M01C296.oo-E048O 
085 2ASSBL60081M01C31 HI1-F004 
085 2ASSBL60081M01C312-oo-F002 
085 2ASSBL60081 M01C312-oo-F003 
085 2ASSBL60081M01C31~002 

085 2ASSBL60081M01C31~003 

085 2ASSBL60081M01C314-00-FOO4 
085 2ASSBL60081 M01C314-OO-F005 
085 2ASSBL60081M01C31~006 

085 2ASSBL60081M01C31~001 

085 2ASSBL60081MOl C31~002 
085 2ASSBL60081M01C317-oo-FOOl 
085 2ASSBL60081MOl C321-oo-F005 
085 2ASSBL60081M01 C339-00-F003 
085 2ASSBL60081M01C~001 

085 2ASSBL60081M01~002 

085 2ASSBL60081M01P168-OO-F001 
085 2ASSBl60081 M01P287-oo-F001 
085 2ASSBL60081M01P29!l-OO-F001 
085 2ASSBL60081M01P3OO.oo-F001 
085 2ASSBL60081 RS-422 TESTCABLE 
085 2ASSBLB194560 
085 2ASSBLBOARO PARTS 
085 2ASSBLCP12SSR76-MOD 
085 2ASSBlMABE HEATER FIXTURE HDWR 
085 2ASSBLNPBX HEATER~1 
085 2ASSBLNPBX HEATER~2 

085 2ASSBLPARnAL BOARD 
085 2ASSBLPRESSURE TESTER 
085 2ASSBLSS-Fl4TA4TA~16 

085 2ASSBLTESTCHAMBER 
085 2CALBR01~550~A~~ST 

085 2CAPAC399-1171-1-ND 
085 .2CAPAC399-1185-1-ND 
085 2CAPAC399-1188-1-ND 
085 2CAPAC399-1271H -NO 
085 2CAPAC399-1281-1-ND 
085 2CAPAC399-1n9-1-ND 
085 2CAPAC399-1785-1-ND 
085 2CAPAC399-2171-ND 
085 2CAPACBC1228CT-NO 
085 2CAPACC0603C100J5GACTU 

MATL
 
MATL
 
MATl
 
MATl
 
MATl
 
MATl
 
MATl
 
MATl
 
MATl
 
MATL
 
MATl
 
MATL
 
MATL
 
MATl
 
MATl
 
MAR
 
MATL
 
MATl
 
MATl
 
MATl
 
MATL
 
MATl
 
MATl
 
MATl
 
MAR
 
MATl
 
MATl
 
MATl
 
MATl
 
MATL
 
MATl
 
MATL
 
MATL
 
MATl
 
MATl
 
MATL
 
MATl
 
MATl
 
MATl
 
MATl
 
MATL
 
MATl
 
MATL
 
MATl
 
MATl
 
MATL
 
MATl
 
MATL
 
MATl
 
MATL
 
MATl
 
MATl
 
MATl
 
MATl
 
MATl
 
MATl
 
MAR
 

ASSY, Grounding Strap 
MOUNT, CV WINDOW COVER, COTS ASSY 
PLATE, CV TOP, COTS ASSEMBLY 
BRACKET,MTG,HSC,COTSASSY 
SADDLE, FILTER COTS ASSEMBLY 
SADDLE, FILTER COTS ASSEMBLY 
RAIL. EMBEDDED CONTROllER COTS ASSY 
PRESSURE TRANSDUCER. COTS ASSEMBLY 
PRESSURE TRANSDUCER. COTS ASSEMBLY 
PRESSURE TRANSDUCER, COTS ASSEMBLY 
PRESSURE TRANSDUCER, COTS ASSEMBLY 
PRESSURE TRANSDUCER, COTS ASSEMBLY 
PRESSURE TRANSDUCER. COTS ASSEMBLY 
PRESSURE TRANSDUCER, COTS ASSEMBLY 
PRESSURE TRANSDUCER, COTS ASSEMBLY 
PRESSURE TRANSDUCER. CC, COTS ASSY 
Cartridge Heater, Cots Assembly 
SOLENOID, COTS ASSEMBLY 
SOLENOID, COTS ASSEMBLY 
Tl-tERMISTOR, 3', COTS ASSEMBLY 
Tl-tERMISTOR, 3', COTS ASSEMBLY 
THERMISTOR, 3', COTS ASSEMBLY 
Tl-tERMISTOR, 3', COTS ASSEMBLY 
THERMISTOR, 3', COTS ASSEMBLY 
Tl-tERMISTOR, 6", COTS ASSEMBLY 
Tl-tERMISTOR, 6', COTS ASSlMBLY 
Focus Motor, Cots Assembly 
PHOTO-ELECTRfC SENSOR COTS ASSEMBLY 
Brtd, Mount, Terminal Rail, CV COTS AMy 
LEG, CV BUILD-UP, COTS ASSY 
LEG, CV BUILD-UP, COTS ASSY 
Sprocket, MABE Focus Lens 
BAll SCREW ASSEMBLY, MODIFICATION 
MODIFICATION, SOLENOID 
MODIFICATION, 1/4' ADJUSTABLE ELBOW 
RS-422 COMMUNICATIONS TEST CABLE (EMI & Tl-tERMAl) 
Kim 2.7 mm Heater 
Un-Assembled Brass Board Heater Control 
CONTROL PANEL 
MABE HEATER, FIXTURE HARDWARE, GSE FIXTURE 
NPBX Heater assy with deY. records -SIN 1
 
NPBX Heater assy with dey. records -SIN 2
 
Partially Assembled Brass Board Heater Control 
Pressure Tester (BXF) 
Low Pressure Metal Flexible Nose Assembly 
Test Chamber with Heater Array, Connectors, and Wires 
Thermistor 
cap .10ul SOY ceramic 
4.7pf SOY ceramic NPO 1206
 
6.8pf SOY ceramic NPO 1206
 
capOlu125v ceramic 
cap .1uI 25v ceramic 
cap Ian! 10ul16v 
cap Tan! 10ul 25v 
capacitor .1u1SOY 
cap 18pf SOY ceramic 
399-1049-1-nd 

1.00
 
200
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
100
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
1.00
 
100
 
1.00
 
100
 
1.00
 
1.00
 
100
 
1.00
 
1.00
 
1.00
 
100
 
1.00 
1.00 
1.00 
3.00 
1.00 
1.00 
1.00
 
600
 
200
 
1.00 
1.00 
1.00 
1.00
 
100
 
1.00 
1.00 
1.00 
5.00 

10.00 
20.00 
10.00 
20.00 
40.00
 
1000
 

2.00 
50.00 
5.00 

12.00 

5.8000 580
 
2160950 43219
 

4,7489000 4,74890
 
8545000 854 50
 
383.9000 38390
 
383.9000 38390
 
840.5800 ll4J 58
 

89.5900 8959
 
89.5900 8959
 
895900 8959
 
895900 8959
 
89.5900 8959
 
89.1300 8913
 
891300 8913
 
891300 8913
 

114.5900 11459
 
56.4400 56.44
 
37.6500 3765
 
37.6500 3765
 
68.4200 68.42
 
68.4200 68.42
 
684200 6842
 
68.4200 68 42
 
68.4200 6842
 
706700 7067
 
70.6700 iJ 67
 
381200 38.12
 
247200 24.72
 

136.4700 13647
 
2212400 221.24
 
2212400 221.24
 
264.0400 264.04
 
345.8200 1,03746
 

500000 ~O 00
 
756000 7560
 

1185600 11856
 
1,500.0000 9,0(:000
 

2500000 500.00
 
1,4650000 1,46500
 

702.7300 702.73
 
5,0000000 5.00000
 

16,000.0000 16.00000
 
30,000.0000 30.000 00
 

5000000 50000
 
955000 9550
 

450.0000 45000
 
23.2800 11640
 
01210 121
 
0.7280 1456
 
04160 416
 
0.0325 065
 
0.0695 2.78
 
0.7830 783
 
1.2450 2.49
 
01210 605
 
0.0540 0.27
 
0.0425 051
 



085 2CAPACC0603Cl01 J5GACTU MAn 399-1061-1-nd 38.00 00245 093085 2CAPACC0603C104J3RACTU MAn CAP. 1UF 25V CERAMIC X7R 0603 10.00 04620 462085 2CAPACC0603C104K3RACTU MAn CAP .1UF 25V CERAMIC X7R 0603 170.00 00278 473085 2CAPACC0603Cl04K3RACTU MAn CAP .1UF 25V CERAMIC X7R 0603 37.00 00278 103085 2CAPACC0603C560J5GACTU MATL 399-1057-1 -nil 9.00 0.1367 1.23085 2CAPACC0603C680J5GACTU MAn 399-1058-1-nd 1000 01360 136085 2CAPACCR3A-KIT-NO MAn Krt chip res 61 values 50ea 100 799500 7995085 2CAPACE1474-NO MAn Panasonic E-Series 47 Micro Farad, 100 WV, Metallized 2000 0.4800 960085 2CAPACECE-V1VA221UP MAn CAPACITOR' 10.00 0.4970 497085 2CAPACECE-VWAl21 UP' MATL 220ut 35V eIecl VS capacjtor 2.00 04950 099085 2CAPACECJ-1VB1Cl0SK MAn CAP 10UF 16V Ceramic XSR 0603 50.00 01210 605085 2CAPACECJ-1VB1El03K MAn l0000pf ceramic capacaor 5.00 00480 0.24085 2CAPACECJ-1VB1El04K MATL .1uf 25V ceramic capacitor 918.00 00219 2012085 2CAPACECJ-2FBl E225K MAn Capacitor, 2.2uf, 25V 0805 40.00 0.1650 660085 2CAPACEC~2YB1Hl04K MAn 50v Ceramic Capacitor 800 01613 '29085 2CAPACECJ-3VBl E334K MAn 33uf 25V ceramic capacitor 200 02250 045085 2CAPACECJ3YB1C225K MAn Capacitor 22uF 22.00 03891 856085 2CAPACEC~3YB 1El 05K MAn CAP lUF 25V CERAMIC X7R 1206 47.00 01835 863085 2CAPACECJ-3YB1El05K MAn CAP lUF 25V CERAMIC X7R 1206 5.CO 01835 092085 2CAPACECJ-3YBl El05K MATL CAP lUF 25V CERAMIC X7R 1206 19.00 01835 349085 2CAPACECJ-3YB1E474K MAn CAP .47UF 25V CERAMIC X7R 1206 200 04150 083085 2CAPACECJ-3YB1E475K MAn CAP 4.7UF 25V CERAMIC X5R 1206 800 0.5910 473085 2CAPACECJ-3YB1E475K MATL CAP 4.7UF 25V CERAMIC X5R 1206 200 05910085 2CAPACECST1VD106R MAn Capacitor 10uf 35y tant TE series 
1 18 

28.00 15750 4410085 2CAPACECS-T1VOl 06R MAn Tanlalum capacitor 27.00 09248 2497085 2CAPACEE~L1EOl 56R MAn CAP 15UF 25V TANTALUM TEL SMO 6.tJ 15567 934085 2CAPACE~1E0336R MAn CAP 33UF 25V TANTALUM TEL SMO 2.00 1.6900 338085 2CAPACF-KIT-NO MATL Assorted 15 values 180 pes 1.00 399500 3995085 2CAPACGRM1885ClH2OOJA0l0 MAn 400-141O-1-nd 900 0.0422 038085 2CAPACPl 1296CT-NO MAn Cap 15uf 25y Tantalum 6.00 29700 17 82 085 2CAPACPl 1298CT-NO MATL Cap 33uf 25y Tantalum 10.00 32910 3291085 2CAPACPl1321CT-NO MATL 3 3ut 20v tant te smd 1.00 0.5200085 2CAPACPCCl 52BNCT -NO MAn Cap 1500pf 50v ceramic 
052 

1000 0.0820 082085 2CAPACPCC16-KIT-NO MATL Krt Cap ceramic X7R 1.(:0 319500 3195085 2CAPACPCC1762CT-NO MAn CAP .1UF 16V CERAMIC X7R 0603 10.00 0.1030 103085 2CAPACPCC1891CT-NO MAn Cap .47uf 25y ceramic 200 0.4150 083085 2CAPACPCC2092CT MAn "DC Ceramic Capacitor tzoo 07400 888085 2CAPACPCC2148CT-NO MAn Cap Ceramic 560pf 1000 01490 14'1085 2CAPACPCC2239CT MAn l00V Ceramic Capacitor 9.00 04344 391085 2CAPACPCC2286CT-NO MAn Cap .047uf 50Y ceramic 10.00 00600 060085 2CAPACPCC2297CT-NO MAn Cap 4.7uf ceramic 1000 05910 591085 2CAPACPCT6334CT-NO MAn .33uft35y teh ser sm 20.00 04700 940085 2CAPACT494C106K025AS MAn CAPACITOR TANT 10UF 25V 10% SMO 40.00 10868 4347085 2CAPACVJ0603Al 01JXACWl BC MAn Capacitor. l00pf 50 voll 10000 00176 176085 2C~NE02~1004 MAn MLX .084" 14-20AWG SOC 38.00 0.1000 380085 2C~NE02081202 MAn MoIex Crimp Contacts 20.00 00600 1.20085 2CONNE02~1202 MATL ConIact. female 7600 01571 '194085 2CONNE02~2006 MAn MLX .084" 14-20AWG PIN 5200 01000 520085 2CONNE02455 MAn BNC female to RCA male adapter 8973.00 29900085 2CONNE08-55-0102 MAn 22-3OAWG Crimp Contacts 93.00 00972 904085 2CONNE08-~1 02 MAn 22-3OAWG Crimp Contacts 100 00972 010085 2CONNE08-56-{)109 MAn Socket. female, gold 18600 04165 77 47 085 2CONNE 102160-9 MAn 40 pin right angle header 200 2.7000 540085 2CONNE 102160-9 MAn 40 pin right angle header 700 27000 1890085 2CONNE102320-1 MAn La1ch, Long 4.00 0.2180 087085 2CONNE102320-1 MAn Latch, Long 14.00 02180 305085 2CONNE102322-3 MATL 16 pin connector 2.00 3.1500 630 



085 2CONNE102387-1 MATL CONNECTOR HOUSING 10POS 100 POL DUAL 1000 13400 1340085 2CONNE102387-1 MATL CONNECTOR HOUSING 10POSloo POL DUAL 400 13400 536085 2CONNE102387-6 MATL CONNECTOR HOUSING 26POS 100 POL DUAL 1000 19100 1910085 2CONNE102387-6 MATL CONNECTOR HOUSING 26POSloo POL DUAL 600 1.9100 1146085 2CONNE102387-6 MATL CONNECTOR HOUSING 26POSloo POL DUAL 1000 19100 1910085 2CONNE102387-7 MATL Conoector,AMP 30 Position 400 21300 852085 2CONNE 102387-9 MATL CONNECTOR, MFG AMP 900 28000 2520085 2CONNE10368-ASOO-OO MATL Connector Shell 100 140000 1400085 2CONNE103906-1 MATL CONNECTOR HEADER 300 0.4700 141085 2CONNE103958-1 MATL CONNECTOR RECEPTICAL 2POS 500 0.4000 200085 2CONNE104130-3 MATL 16 PIN CONNECTOR, AMP 200 22900 458085 2CONNE1 04344-1-ND MATL Conoector HFDW BRKWAY 3pas 1000 0.3000 300085 2CONNE1~ MATL MLX 084" 4P HEADER 1000 0.5700 570085 2CONNE1-102154-3 MATL 44pos shrouded header 10.00 31550 31.55085 2CONNE1-10238HI MATL Connector, Amp, 50 Pas. 900 30400 2736085 2CONNEI-I02387-1 MATL CONNECTOR HOUSING 6OPOS .100 POL DUAL 2000 3.5000 7000085 2CONNE1-102387-1 MATL CONNECTOR HOUSING 6OPOS .100 POl. DUAL 12.00 35000 4200085 2CONNE1-102387-1 MATL CONNECTOR HOUSING 6OPOS 100 POL DUAL 400 35000 1400085 2CONNE1-102387-1 MATL CONNECTOR HOUSING 6OPOS 100 POL DUAL 1000 35000 3500085 2CONNE1-l02387-3 MATL 44pos POL, Housing 900 28300 2547085 2CONNE14WW4 MATL IC Socket, 14-pin 1000 19160 1916085 2CONNE15-24-<1048 MATL Cd Power Connector, Female 400 07050 282085 2CONNE16TWW MATL IC Socket, 16-pin 800 16650 1332085 2CONNE170-037-172-ooD MATL CONN DB37 CRIMP MALE TIN 1000 13250 1325085 2CONNE170204-4 MATL Contacts 1600 0.0000 000085 2CONNE171-l109-102-OO1 MATL 9-pin DB, Connector 1000 05450 545085 2CONNE171-l109-102-OO1 MATL 9-pin DB, Connector 200 05450 log085 2CONNE171-llO9-202-OO1 MATL Connector D-SUb; 9-Pin Female 1000 05800 560085 2CONNE171-llO9-202-OO1 MATL Connector D-sub; 9-Pin Female 3.00 05800 174085 2CONNE171822-4 MATL Connector; 4 position 2000 01000 200085 2CONNE171822-4 MATL Comector; 4 position 900 0.1000 090085 2CONNE171l126-4 MATL Part Header Assembly 200 00000085 2CONNEl 72-c37-102~31 MATL Connector, DB37 Male Solder Cup tin 
000 

200 56000 11.20085 2CONNE172-c37-202-OO1 MATL Connector, DB37 Female Solder Cup Tin 200 6.4400 1288085 2CONNE189-037-612-571 MATL Connector, Dual Port D-Sub 300 134000 40.20085 2CONNE205089-1 MATL Contacts 2100 0.1700 357085 2CONNE205090-1 MATL Socke1s, gold, D-sub 50000 0.2500 12500085 2CONNE205090-1 MATL Sockets, gold, D-sub 17400 0.2500 4350085 2CONNE205167-1 MATL D-Sub 500 27900 1395085 2CONNE205169-1 MATL 50 pas D-sub hou5ing 1100 75400 8294085 2CONNE22~1-2027 MATL 2POS, .1", Terminal Housing 10.00 01460 148085 2CONNE22~1-3027 MATL Ramp & Rib 1", 2 pos 2000 0.2020 404085 2CONNE22~1·3037 MATL WM2001-ND 2600 0.2525 657085 2CONNE22~1-3047 MATL WM2002-ND 20.00 0.3100 620085 2CONNE22-11-2022 MATL Header, gold, 2 pos "81! 1100 03182 3.50085 2CONNE22-11-2022 MATL Header, gold, 2 pos "8rt 2000 03182 636085 2CONNE22-11-2032 MATL Header gold, I" 3 pes "8rt 3000 08390 2517085 2CONNE22-11-2042 MATL WM2702-ND 2000 08620 1724085 2CONNE22·12-2024 MATL 2P Header Gold 500 10500 525085 2CONNE22-12-2034 MATL Header, gold, 1", 3 pos RA 6.00 11683 7.01085 2CONNE2-329082·1 MATL COAX CONNECTOR 300 94400 2832085 2CONNE246-7310 .MATL 6 pin DIN plug 400 19.1900 7676085 2CONNE246-7340 MATL 6 pin DIM panel mount reeeplical 400 71600 2864085 2CONNE31-219-RFX MATL S1raight BNC Adap1er - Jack to Jack 600 4.3600 2616085 2CONNE3372-0302UB MATL 120 pin .1" connector 900 257600 23184085 2CONNE34156 MATL CONNECTOR, SPADE, #10, 16-22AWG 1000 02250 225085 2CONNE3448-89150 MATL S1rainRelief 50 Pas IDC Socket 1000 01700 170 



085 2CONNE~FSOO1M2~H4 MATl Backshell 100 104.1900 10419
085 2CONNE~HA001M1~H MATl bACKSHELl 2.00 1157800 23156
085 2CONNE~HSOO1 M2108H3 MATL Backshell 2.00 104.1900 20838
085 2CONNE46650-75-RFX MATL Connector BNC Male Cap Resist 75 ohm 6.00 3.4100 20.46085 2CONNE499252-8 MATl Strain Illliet SOCket 1000 01720 1.72085 2CONNE50-84-1010 MATl MLX .084" 1P Plug 500 01400 070085 2CONNE50-84-102O MATl MLX .84" 2P PLUG 300 01800 054085 2CONNE50-84-103O MATL MLX084" 3P PLUG 500 0.2600 130
085 2CONNE50-84-1040 MATL MLX .084" 4P PLUG 15.00 0.2400 3.60085 2CONNE50-84-1120 MATL MLX .084" 12P PLUG 1000 0.3300 330
085 2CONNE50-84-2010 MATL MLX .084" 1P RECP 5.00 01400 0.70085 2CONNE50-84-203O MATl MLX .084" 3p recP 500 03000 1.50085 2CONNE50-84-204O MATl MLX .084" 4P RECP 12.00 02700 3.24085 2CONNE50-84-2120 MATl MLX .084" 12P RECP 10.00 0.4300 430
085 2CONNE512-1100 MATl standard sex plug size 11
 800 2.4700 1976
085 2CONNE512-1170 MATl RlMlf'S6 sex plug size 11
 4.00 2.0100 804
085 2CONNE512-1171 MATL Re_ sex receptical size 11
 8.00 20400 1632
085 2CONNE512-1172 MATl Re_ sex plug size 17
 4.00 27200 1088
085 2CONNE512-1173 MATl Re.erse sex receptical 400 23400 936
085 2CONNE512-124O MATl Size 11 Cap 4.00 46600 1864
085 2CONNE512-1250 MATL Size 11 backshell 8.00 22800 18.24085 2CONNE512-1255 MATl Size 13 backshell 400 33200 1328
085 2CONNE512-1255 MATl Size 13 backshell 800 33200 2656
085 2CONNE512-1260 MATl Size 17 backshell 800 3.7400 2992
085 2CONNE512-1333 MATL Connector pin 400 252000 100.80
085 2;;ONNE512-1334 MATl Connector sockets 4.00 30.1400 12O.;i6085 2CONNE512-8220 MATl Double lOWhousing 10.00 1.2400 1240
085 2CONNE512-8224 MATl AMP MOD IV Connector HouSing - 16 pin 600 1.0000 600
085 2CONNE512-8228 MATl AMP Mod IV Connector Housing - 26 pin 8.00 1.9750 1580
085 2CONNE512-8230 MATl AMP Mod IV Connector Housing - 34 pin 11.00 1.6364 1800
085 2CONNE512-8234 MATl AMP Mod IV Connector Housing - 50 pin 600 10000 600
085 2CONNE512-8601 MATl Revense sex receptical size 13
 400 31000 1240
085 2CONNE512-8602 MATL standard sex plug 1200 3.2000 3840
085 2CONNE512-8603 MATL R~ sex plug Size 13
 4.00 3.2900 1316
085 2CONNE512-8869 MATl standard sex plug size 17
 800 44000 3520
085 2CONNE512-8872 MATL ReYeIlie sex receptical size 17
 4.00 35800 1432
085 2';ONNE512-8873 MATl Re_ sex plug size 17
 4.00 3.8100 1514
085 2CONNE512-XXXX MATl AMP Mod IV Connector Housing - 10 pin 200 1.0000 200
085 2CONNE555052-1 MATl Connector, RJ45 300 4.8800 1464
085 2CONNE5-55853O-3 MATL CONN MOD PLUG 8-8 ROUND STRANDED 2200 0.6718 1478
085 2CONNE5-569552-2 MATl Gold Connector 500 2.2400 11.20085 2CONNE618-1811 MATL 120 pin condo header 200 25.7600 5152
085 2CONNE618-1811 MATl 120 pin condo header 200 25.7600 5152
085 2CONNE618-1811 MATl 120 pin condo header 300 25.7600 77.28085 2CONNE641215-2 MATl CONNECTOR HEADER VERT .100 2POS 30AU 10.00 0.3420 342
085 2CONNE641216-4 MATl CONNECTOR HEADER RTfA 14POS 30AU 10.00 0.9270 927
085 2CONNE644518-2 MATl Connector, 2Pos Header 2500 03280 820
085 2CONNE6737 MATL Conrector Adapter BNC Female -Female 75 Ohm 200 39200 784
085 2CONNE6739 MATL Connector Adapter BNC ,. F-M-F 75 Ohm 2.00 4.6300 9.26085 2CONNE674O MATL Connector Adapter BNC Maie-Male 75-Ohm 200 5.1100 10.22085 2CONNE713-9050 MATl BHe Plug 400 19300 772
085 2CONNE713-9Q62 MATl BNC panel mount 400 35000 1400
085 2CONNE71922-144 MATl 2x22pos RA Header 400 2.5600 1024
085 2CONNE746285-3 MATl Polorazjed Connector 1000 0.8070 807
085 2CONNE87046-1 MATl Crimp Sockets, 2O-24AWG 100000 0.2601 260 13
 085 2CONNE87046-3 MATl Contact receptical 15000 03500 5250
085 2CONNE87165-1 MATl Contact 1200 0.5200 624
 



085 2CONNE87175-6 MATL Connector housing 7.110 0.6000 420085 2CONNE874~ MATL Connector, 2Pos Housing 25.00 0.3172 793085 2CONNE87631 -7 MATL CONN HOUSING 12POS 100 POL DUAL 1000 1.1200 11 20 085 2CONNE8n58-7 MATL CRIMP SNAP-IN CONTACTS 62500 0.0853 5331085 2CONNE89150-0001 MATL Connector50 POS IDC Socket Gold 10.00 2.1400 2140085 2CONNE~P~7~M2-~ MATL Connectors; CATS, 8-8 Mod Plug 200 0.4500 090085 2CONNE962-40206-12 MATL 40 PIN PC104 CONNECTOR 1700 3.1100 5287085 2CONNE962-40326-12 MATL 64 PIN PCl04 CONNECTOR 1700 4.1000 6970085 2CONNE970-015-030-121 MATL Backshell DB15 Die Cast Nidel 100 6.9000 690085 2CONNE970-037-<J30-121 MATL Backshell DB37 Die Cast Nici<el 400 10.5600 4224085 2CONNE971-<J15-030-121 MATL Backshell DB15 Diecast NKL 45DEG 1.00 6.9000 690085 2CONNE979-<J15-030-121 MATL 1SP Top ENT DIE Cast Nickel Plated 2.00 31000 620085 2CONNE982-<J50-<Jl0-031 MATL Backshell 4.00 5.1200 2048085 2CONNEA22002-OO1 MATL Connector. 5 pin 1.00 7.6400 764085 2CONNEA24000-002 MATL 2-Pin wI 18" leads 200 7.6900 1538085 2CONNEA24000-004 MATL 4-Pin wI 18" leads 200 13.5000 2700085 2CONNEAHRJOK MATL Header Connector 4.00 3.0500 1220085 2CONNEAKN26A-ND MATL Connector IDC Socket 500 22100085 2CONNEAKN60A-ND MATL Connector IDC $<x;ket " 05
5.00 49300 2465085 2CONNEALSNOl MATL Lockejector hooks 600 0.2117 127085 2CONNEC8B341000 MATL 50 pin DB Backshell 600 29000 17.40085 2CONNECN-153-12 MATL 10 Tech Personal DAQ Tenninal Block 400 200000 8000085 2CONNECTJl 12E01E-513 MATL Terminal Module 800 19.2600 15408085 2CONNECTJ-,.,2-E-<Jl E-513 MATL Composite Termination Module 2.00 20.4000 4080085 2CONNECTJl 16E01O-51 3 MATL Power Disttibulion ITerminal Module 7.00 11.3200 7924085 2CONNECTJ1-16E01D-513 MATL Terminal Block tOO 128000 7680085 2CONNED38999120FDlgpN MATL Wall mount receptical 3.00 26.0700 7821085 2CONNED38~a6FA35PN MATL Straght plug tI6 22awg, pins 300 35.5100 106 53 085 2CONNED38999126FA35SN MATL Straight plug, Aero-Elec1ric Connector 2.00 386100 7722085 2CONNED38999128FC35SN MATL Straight plug #22awg Socket 400 43.8200 17528085 2CONNED38999126FC4PN MATL Straight plug 16awg pins 200 236500 4730085 2CONNED38999t'26FDI8PN MATL straight plug '18 2Oawg, pins 2.00 41.7700 8354085 2CONNED38999126FDl asN MATL Straight plug '18 2Oawg, Socket 400 482500 16500085 2CONNED38999126FD19SN MATL AenH:lectric straight plug .00 31.2900 6258085 2CONNED~a6FE6PN MATL Straight plug 12awg pins 200 443100 8862085 2CONNED38~a6FE6SN MATL Tri-Start Cir. Conne Straight Plug 3.00 454200 136.26085 2CONNED38999126FG75PN MATL Straight plug ~OO 1488300 29766085 2CONNED38~FG75SN MATL Arnphenol • straight plug 400 1435800 57432085 2CONNEEGG.2B.319.CLM MATL CONNECTOR (RECEPTACLE) 3.00 51.9700 15591085 2CONNEFGG-2~19-CLCD62 MATL Lema Straight Plug 5.00 514500 25725085 2CONNEFM7W25-K121 MATL 5 SOCKET. 2 HOLE D-SUB 1.00 33600 3J6085 2CONNEFMP006S110 MATL 12·16AWG SOLDER SOCKET 200 2.4000 480085 2CONNEHR10A-l0P.12S MATL Connector, 12-Contact 300 125600 37.68085 2CONNEM2430819-1 MATL 50 Pin Connector 1000 819500 61950085 2CONNEM39029'1·100 MATL CONTACTS 1900 05000 950085 2CONNEM391129122-193 MATL Contact Crimp Sod<el 16 AWG 100 00 0.2400 2400085 2CONNEM391129122-605 MATL CONTACT 2500 11700 2925085 2CONNEM3911~~ MATL Socl<el 3200 01800 576085 2CONNEM391129156-351 MATL Socket 3200 02100 672085 2CONNEM391129156-352 MATL CONTACT 48.00 0.2600 1196085 2CONNEM391129f58-353 MATL Contacts 32.00 18500 59.20085 2CONNEM391129158-380 MATL Contacts #220 4400 01000 440085 2CONNEM391129f58-363 MATL Plug 31.00 01200 372085 2CONNEM391129158-364 MATL CONTACT, PIN, 20AWG 5000 03100 1550085 2CONNEM3!102919O-529 MATL Contacts 4200 139700 56674085 2CONNEM39112958-365 MATL Contacts 3200 0.6700 2144085 2CONNEM8J51J101-GN MATL Connector, Micro 0 200 280800 5616 



085 2CONNEM8351 3114-G01NP MATL Conrector, Micro D 2.00 399400 7988
085 2CONNEMD650006S MATL 6 pin female panel mount 600 18000 1080
085 2CONNEMHR26K-ND MATL Protect Header RtlAng 5.00 23300 1165
085 2CONNEMS2746TT17F6PA MATL Straight plug 12awg, pins 400 502800 201 12
 085 2CONNEMS27467T9F35P MATL CONNECTOR, STRAIGHT, 9 SHELL, 6 POS , #220 2.00 253100
 50 62
 085 2CONNEMS2746TT9F35PA MATL Connector 4.00 22.1800 88 72
 085 2CONNEMS27656T17F06SA MATL Connector 2.00 29.2100 58.42.085 2CONNENKJ-5101 MATL Cata9O'Y 5 Jack 4.00 35500 14.20085 2CONNEPE6015 MATL Conrector, BNC Female cap w/chain 1.00 38900 3.89085 2CONNEPP-oCVC58IV MATL Conr"eClor 300 48500 1455
085 2CONNEPP-DS9P MATL Male Connector 6.00 03000 180
085 2CONNEa-6751 MATL Glassseal type DH Connector w~hoLt Groove 1000 208 5600 2.08560
085 2CONNER18-4C MATL Crimp Ring 700 00714 050085 2CONNER18-8C MATL Crimp Ring, 22-18 AWG, Sz 8
 9700 00708 667
085 2CONNERJ45-8N4-8 MATL RJ45 wlFerrile Block - Connector 100 30900 309
085 2CONNERJ4S-8N4-S MATL RJ45 wlFerrile Sleave 500 35500 1775
085 2CONNESJG020270 MATL Socket grounding Module 200 285600 5712
085 2CONNESS-400-1-4 MATL Male Connector. 114"PI 1500 5.2000 7800
085 2CONNESS-400-1-s MATL Male Connector. 3/8 npl 400 66000 2640
085 2CONNESS-400-3 MATL union tee. 1/4" 1000 165000 16500
085 2CONNESS-400-4 MATL Cross, 1/4" 200 298000 5960
085 2CONNESS-400.o-2 MATL Reducing Union, 11lH/4 400 8.5000 3400
085 2CONNESS-400-7-4 MATL Female Connector, 1/4-npl 6.00 84000 5040
085 2CONNESS-81o-1-8 MATL Male Connector, 112npl 2.00 11.9000 2380
085 2CONNETJSE2051 0 MATL Splice Fused Lamp 200 676100 13522
085 2CONNF4-4QHLZ-SS MATL 1/4" ULTRASEAL BODY(MALE NUn 14.00 336000 47040
085 2CONNF4BQ-SS MATL 1/4" ULTRASEAL FEMALE NUT 1400 89000 12460
085 2CONNF4PNQ-SS MATL 1/4" ULTRASEAL BODY PLUG (MALE NUn 1100 240300 264 33
 085 2CONNF4QO-SS MATL 114"ULTRASEAL o-RING, 321 CRES TAG 23.00 65500
 15065
085 2CONNF8-4-4JLZ-5S MATL 1/2" Tube Run x 114"Tube Run x 114"
 3.00 38 3000 11490
085 2CONNF&-40HLZ-5S MATL 1/2" ULTRASEAL BODY (MALE NUT) 7.00 39.0100 273 07 085 2CONNF8BQ-5S MATL 1/2" ULTRASEAL FEMAlE NUT 20.00 138900 277 80
 085 2CONNF8PNQ-5S MATL 112"ULTRASEAL BODY PLUG (MALE NUn 2200 419700 92334
085 2CONNFNY-1213-1 MATL Front Ferrule 1000 07900 790
085 2CONNFNY-1214-1 MATL Rear Ferur1e 1000 0.7400 740
085 2CONNFQC4-5-2AN-316 MATL Quick dIsconnect stem wlBuna N Q-ring 100 14.1000 1410
085 2CONNFSS-121o-3-12~ MATL Reducing Union Tee 200 551000 11020
085 2CONNFSS-1210~ MATL Reducing union 3.00 311000 9330
085 2CONNFSS-121o-C MATL Cap 200 133000 2660
085 2CONNFSS-200-1-2BT MATL Male Conr-ector 500 62000 3100
085 2CONNFSS-200-1-4BT MATL Male Connector 700 7.1000 4970
085 2CONNFSS-4Oll-H2 MATL CONNECTOR, MALE 2.00 140000 2800
085 2CONNFSS-400-1-2 MATL Connector, Male, 1/4 700 50000 3500
085 2CONNFSS-4Oll-1-8 MATL 12.00 8.9000 10680
085 2CONNFS5-400-2-4 MATL Elbow, Male, 1/4 3.00 104000 3120
085 2CONNFSS-4Oll-3 MATL Union Tee, 114
 700 165000 11550
085 2CONNFSS-400-3TTF MATL Female Branch Tee 600 203000 12180
085 2CONNFSS-4()(Hi MATL Union, 114
 2.00 80000 1600
085 2CONNFSS-400-7-4 MATL Connector, 1/4 400 88000 3520
085 2CONNFSS-400-9 MATL Union Elbow 1800 117000 21060
085 2CONNFSS-400-NFSET MATL 1/4" SWAGELOK NUT REAR FERRULE SET 500 29200 1460
085 2CONNFSS-400-R-2 MATL AIR TURBINE 4.00 8.8000 3520
085 2CONNFSS-400-R-4 MATL 114"TUBE X 114"SWAGELOK PORT CONN 200 7.3000 1460
085 2CONNFSS-400-R~ MATL REDUCER 200 6.7000 1340
085 2CONNFSS-400-R-8 MATL 1/2 to 1/4" Reducer 2.00 8.2000 1640
085 2CONNFS5-400-5ETS MATL Ferrule Sets 40.00 13800 5520
085 2CONNFSS-401 -PC MATL Stainless Port Connector 20.00 43000 8600
 



085 2CONNFSS+HC-1-400 
085 2CONNFSS+H~1 

085 2CONNFS5-4-SAE-7-2 
085 2CONNFSS-4l-TA-1-4 
085 2CONNFSS-4i-TA-HI 
085 2CONNFSS-4l-TA-l-a 
085 2CONNFSS-4i-TA-7-4 
085 2CONNFSS-4l-TA-7-a 
085 2CONNFSS-4l-VCR·1 
085 2CONNFSS-4l-VCR·2-GR 
085 2CONNFSS-4l-VCR-3-"lTA 
085 2CONNFSS-4l-VCR-4 
085 2CONNFSS-4i-VCR~ 

085 2CONNFSS-4l-VCR-CP 
085 2CONNFSS-4i-VCR-P 
085 2CONNFSS-tiOO-l-4BT 
085 2CONNFSS-600-1-65T 
085 2CONNFSS-600-3 
085 2CONNFS!HiOO-3-BT 
085 2CONNFSs-eoo-3TMT-8T 
085 2CONNFSS-OOO-O 
085 2CONNFSS~2-BT 

085 2CONNFSs-«lO~ 

085 2CONNFSs-eoo-9 
085 2CONNFSS-tiOO-R-12 
085 2CONNFSS-6QO·SETS 
085 2CONNFSs-«lO-Z-65T 
085 2CONNFSS-al0-1-a 
085 2CONNFS5-810-1-a 
085 2CONNFSS-a 10-1-ll-OR 
085 2CONNFSS-a10-1-OR 
085 2CONNFS5-810·2-a 
085 2CONNFSS-al0-3 
085 2CONNFSS-al0-3 
085 2CONNFSS-alo-3-4l-8 
085 2CONNFss-eiQ-3.&-4 
085 2CONNFss-ei0-3-8-4 
085 2CONNFSs-B10-6 
085 2CONNFSs-B10~ 

085 2CONNFSS-al0-7-a 
085 2CONNFSs-al0-9 
085 2CONNFSs-B10-9 
085 2CONNFS5-81D-C 
085 2CONNFSS-610-NFSET 
085 2CONNFS5-81D-P 
085 2CONNFSs-Bl0-R-12 
085 2CONNFSS-a10-R-4 
085 2CONNFSS-al0-R-a 
085 2CONNFSS-61D-SETS 
085 2CONNFSS-61 l-PC 
085 2CONNF S5-81 1-PC-4 
085 2CONNFss-&+lC-1-a10 
085 2CONNFSS-a-HC-A-811 
085 2CONNFSs.a-TA-1-4 
085 2CONNFS!Hl-TA-1-8 
085 2CONNFS!Hl-TA-1-8 
085 2CONNFS!Hl-TA-1-8 

MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 
MATL 

1/4" BARB NOSE X 1/4" SWAGELOK PORT 
1/4" BARB NOSE X 1/4" SWAGELOK PORT 
ADAPTER SAE FITTING 
Adapter, 114
 
MALE ADAPTER 
MALE ADAPTER 
Adapter, Tube, Fractional, 114
 
TUBE ADAPTER 
1/4" VCR FEMALE NUT 316 CRES 
1/4" VCR GASKET & RETAINER 
114"VCR GLAND X 1/4" SWAGELOK PORT 
114"VCR MALE NUT 
1/4" VCR BODY (MALE NUT) 
1/4" VCR CAP (FEMALE NUTj 
1/4" VCR PlUG (MALE NUT) 
Male Connectors 
Male C<>nnedor 
Union Tee 
Union Tee 
Male BraOCh Tee 
Union 
Reducing Union 
Reducing Union 
318INCH UNION ELBOW 
Reducer 
Fenule5ets 
Positiionable Male Elbow 
NPT CONNECTOR, MALE 
NPT CONNECTOR, MALE 
112"TUBE x 1/2- MALE NPT, ().fUNG FACE SEAL CONN 
112"TUBE X 3/4"-16 THO Q.flING FACE SEAL CONN 
112"TUBE X 1/2" MALE NPT ELBOW 
UNION TEE 
UNION TEE 
1/2" TUBE RUN X 114"TUBE RUN X 112"TUBE BRANCH 
REDUCING UNION TEE 
REDUCING UNION TEE 
1/2" TUBE UNION ELBOW 
REDUCING UNION 
112TUBE X 112"FEMALE NPT CONN 
112INCH UNION ELBOW 
1/2 INCH UNION ELBOW 
112"TUBE CAP (MALE NUT) 
1/2" SWAGELOK NUT, FRONT FERRULE, BACK FERRULE 
112" SWAGELOK PORT PLUG 
Reducer 
1/2" TUBE X 1/4" SWAGELOK PORT REDUCING CONN 
112"TUBE X 1/2" SWAGELOK PORT CONN 
FemJle Sets 
112INCH PORT CONNECTOR 
Stainless Reducing Port Connector 
1/2" BARB NOSE X 112"TUBE 
112"BARB NOSE X 1/2" SWAGELOK PORT 
Male Adapler 
ADAPTER, MALE 
ADAPTER,MALE 
ADAPTER, MALE 

300
 
100
 
3.00
 
200
 
2.00
 
4.00
 
2.00
 
2.00
 
2.00
 

10.00
 
500
 
5.00
 
200
 
500
 
2.00
 
400
 
200
 
200
 
100
 
100
 
5.00
 
300
 
300
 
500
 
200
 

2000
 
200
 
300
 
2.00
 
200
 
600
 
600
 
200
 
600
 
2.00
 

11.00
 
300
 
2.00
 
300
 
200
 
200
 

1000
 
600
 
500
 
400
 
200
 
200
 
200
 

2000
 
2500
 
200
 
2.00
 
700
 
200
 
200
 
200
 
1.00 

105000 3150
 
75000 750
 

13.6000 40.80
 
43000 860
 
79000 1580
 
79000 3160
 
74000 14.80
 

10.1000 20.20
 
46000
 920
 
3.3000 3300
 
82000 4100
 
38000 1900
 

14.7000 2940
 
104000
 5200
 
61000 12.20
 
81000 3240
 
86000 17.20
 

215000 4300
 
323000
 3230
 
24.8000 2480
 
115000 5750
 
12.6000 3780
 
115000 3450
 
143000
 7150
 
10.6000 21.20
 
1.7100 34 20
 

213000 4260
 
12.5000 37.50
 
125000 2500
 
213000 4260
 
182000 109.20
 
228000 13680
 
34 3000 6860
 
343000 ;:0580
 
44.2000 88.40
 
43.8000 48180
 
43.8000 ':3140
 
180000 3600
 
177000 5310
 
176000 35.20
 
24.7000 4940
 
24.7000 247.00
 
86000 5160
 
59000 2950
 
7.1000 2840
 

11.7000 2340
 
13.8000 2760
 
118000 2360
 
24300 4860
 
9.5000 23750
 
96000 19.20
 

223000 44.60
 
154000 10780
 
86000 17.20
 

101000 20.20
 
10.1000 20.20
 
10 1000 10.10
 



085 2CONNFS5-8-TA-l-OR 
085 2CONNFS5-8-TA-7-4 
085 2CONNFS5-8-TA-Hl 
085 2CONNFSS-CFC4-4N 
085 2CONNFSS-COS2-2U 
085 2CONNFSS-CPA-2 
085 2CONNFSS-CSC2-2U 
085 2CONNFSS-CSC4-4U 
085 2CONNFSS-CSC~U 

085 2CONNFSS-CSCT2-2U 
085 2CONNFSS-CSLA4-4U 
085 2CONNFSS-CSLA~U 

085 2CONNFSS-CSlB4-4U 
085 2CONNFSS-CSRT-4-4U 
085 2CONNFSS-CTA-4 
085 2CONNFSS-QM2-8-2PM 
085 2CONNFSS-QM2-S-200 
085 2CONNFSS-T2-S~28-1 

085 2CONNFS5-T4-&-035-1 
085 2CONNFSSoT6-S~35-1 

085 2CONNFWE416-1 
085 2COVERBFG.2B.l00.lAZL 
085 2COVERZl60-192B 
085 2COVERZT26-92 
085 2CYlIN304l-05SF4-5OO 
085 2FABRI60081 EOl F502 
085 2FABRI60081 EOl S508 
085 2FABRI60081EF01F501 
085 2FABRI60081EOF508 
085 2FABRI60081M010l02(NF) 
085 2FABRI60081M010l03F 
085 2FABRI60081M01Dl08 
085 2FABRI60081M010ll0 
085 2FABRI60081M010lll 
085 2FABRI60081M010119 
085 2FABRI60081 MOl 0144 
085 2FABRI60081 MOl 0156 
085 2FABRI60081 MOl 0175 
085 2FABRl60081 MOl 0176 
085 2FABRI60081M010177 
085 2FABR16OO81M010178 
085 2FABRI60081 M01D204 
085 2FABRI60081M01D243 
085 2FABRI60081M01D271 
085 2FABRI60081M010328 
085 2FABRI60081M010331 
085 2FABRI60081 MOl 0331 
085 2FABRI60081 MOl 0J48 
085 2FABRl60081M010349 
085 2FABRI60081 MOl 0397~2 

085 2FABRI60081 MOl 0398-002 
085 2FABRI60081 MOl 0399-001 
085 2FABRI60081M01D401~1 

085 2FABRI60081M01Pl86 
085 2FABRI60081M01P211~1 

085 2FABRI60081M01P211~2 

085 2FABRI60081MOl P360 

MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 

'MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl' 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 
MATl 

112"SWAGElOK PORT X 314"016 n-oO-RING FACE SEAl CONN 
112"SWAGElOK PORT X 114"FEMALE NPT REDUCING CONN 
ADAPTER, FEMALE 
Female Connector 114" 
~Iconnectorlffl" 

HY-lOK COMPRESSION STAINLESS STEEL 
SAE male connector 118"
 
SAl: male connector 114"
 
SAE male connector 3/8"
 
CONNECTOR
 
SAE male adj. elbow
 
SA!: adj. elborw Jffl"
 
SA!: male Adj. 45deg
 
114"adjuster Tee
 
Union lee 114" 
MINITURE QUICK DISCONNECT MALE FITTING 
MINITURE QUICK OICONNECT STEM 
Tubing, 316 SS 10" long 
Tubing, 316 SS 114"10' long 
Tubing, 316 SS Jffl" 10'Iong 
Adapter Filling, Female x 114"NPT Brass 
Cowr, Aluminum
 
10" x 12.00 9"1allZero Box
 
1.62" x 5 75" x 190"1811 Zero Box
 
Sample Cylinder 
CJSlOmPC104 board 
BXFEC Printed Cin::uil Board 
MABE Healer Control PCB 
BXFEC Printed Cin::uil Board 
Plate Containment Vessel Top (Non-Flight) 
Plate, Contaminent Vessel Bottom 
BracI<el,Mounting, High Speed Camera 
Housing, Test Chamber 
C Jp, Containment Vessel 
Retainer, FIlter 
Housing, MABE Side View Window 
M'lUf1l, Idler Gear, Offset 
Film, Thermal, CV 10 Mounting Plate 
Film, Thennal, CV Mig Plate 10 MSG 
Film, Thermal, AB Mig. Plate 
Film, Thermal, AB to Mounting Plate 
Cowlr, Containment Vessel Window 
BracI<et, Support, Hard Drive Frame 
CLAMP, CONNECTOR, COOLING CHAMBER COVER 
Mig. Bracket, CV OCIDC Converter 
Mig. Bracket, NPBX Heater Connector, 37 Pin 
MIg. Bracket, NPBX Heater Connector, 37 Pin 
Nozzle,7.0mm, CC 
Nozzle, 2,7mm, CC 
Plate, Bottom, CV OCIDC Conllerter 
Plate, Top, CV OCIDC Converter 
Gap Filler, CV DClDC ColM!rter 
Gap Filler, Bottom Plate, CV OdOC CoIM!rter 
Tube fitting, 118"modification 
Modification, 114"Adjustable Tee Filling 
Modification, 114"Adjustable Tee Filling 
Modification; CV Window Retainer Screw 

4.00
 
200
 
200
 
200
 
300
 
100
 
7.00
 
600
 
1.00
 
200
 
3.00
 
100
 
200
 
100
 
500
 
300
 
300
 

1000
 
1900
 
9.00
 
100
 
5.00
 
100
 
100
 
1.00 
4.00
 
500
 
1.00
 
500
 
1.00
 
100
 
1.00 
1.00 
1.00 
2.00 
1.00 
1.00 
1,00 
1.00 
1.00 
2.00 
2.00
 
100
 
100
 
1.00 
1.00 
1,00 
1.00
 
100
 
1,00
 
1,00
 
100
 
100
 
200
 
4,00
 
100
 
500
 

14.9000 5960
 
10.2000 2040
 
141000 2820
 
75600 1512
 
89100 2673
 
51100 511
 
60300 4221
 
58500 3510
 
77400 7.74
 
7.7000
 1540
 

12.6000 3780
 
19.1700 19.17
 
14.7600 2952
 
29.2000 2920
 
148500 7425
 
319000 9570
 
16.9000 5070
 
2.0000 2000
 
25000 4750
 
30000 2700
 
60000 600
 

873100 436 55
 
114.0200 11402
 
225400 2254
 

1615000 16150
 
300.0000 1,20000
 
256.0000 1,260 00
 
500.0000 50000
 
400.0000 2,00000
 

1,730 0000 1,730 00
 
1,200.0000 1,200 00
 
2,9750000 2,97500
 
5,0180000 5,01800
 

510.0000 51000
 
307.0000 61400
 
790.0000 79000
 
6900000 690 00
 
112.0000 11200
 
1030000 10300
 
106.0000 10600
 
380000 7600
 

4900000 98000
 
0,0000
 000
 

971200 9712
 
275.0000 27500
 
2058700 20587
 
205,8700 20587
 

45.1800 4518
 
45,1800 4518
 
62.5800 6258
 
44,1300 4413
 
17.6100 1761
 
176100 17 61
 
25,0000 5000
 
834000 33360
 
315000 3150
 

03700 185
 



085 2FABRI6OO81MOl P361 
085 2FABRI60081M01P371 
085 2FABRI6OO81M01P381 
085 2FABRI6OO81M01Al01 
085 2FASTN1146440AMAMKNCA044OJ 
085 2FASTN114f>.832-MAAAAKNCA0832J 
085 2FASTN47-1 0-386-1 0 
085 2FASTN47-80-686-10 
085 2FASTN58-26-316-24 
085 2FASTN7THREAOEDROO 
085 2FASTN90363A018 
085 2FASTN90363A019 
085 2FASTN9038OA194 
085 2FASTN90380A198 
085 2FASTN90945A710 
085 2FASTN90945A711 
085 2FASTN90945A716 
085 2FASTN9124OA005 
085 2FASTN91240A007 
085 2FASTN91255A580 
085 2FASTN91292A011 
085 2FASTN91292A112 
085 2FA5TN915OOA151 
085 2FASTN91nlAl08 
065 2FASTN91841.11029 
065 2FASTN92141A029 
085 2FASTN92185A106 
085 2FASTN92185A106 
085 2FASTN92185Al07 
085 2FASTN92185A151 
085 2FASTN92185A194 
085 2FASTN92185AI97 
085 2FASTNIl2185A199 
085 2FASTN92196A109 
085 2FASTN92196A207 
085 2FASTN92210Al46 
085 2FASTN92240A539 
085 2FASTN92290Al17 
085 2FASTN93475A195 
085 2FASTN93781A036 
085 2FASTN9371l3A033 
085 2FASTN9371l3A036 
085 2FASTN943S5A19O 
085 2FASTN94985K811 
085 2FASTN98017A609 
085 2FASTNClS-440-2 
085 2FASTNClS632-2 
085 2FASTNCl5-832-2 
085 2FASTNClS~32-2 

085 2FASTNKNCA0440JT 
08S 2FASTNKNCA0832J 
085 2FASTNKNCA0832JT 
085 2FASTNKNCA0832JT 
085 2FASTNKNCAl0832JT 
085 2FASTNKNCAlO632JT 
085 2FASTNKNCAl0632JT 
085 2FASTNKNCl0632JT 

MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MATl
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MATl
 
MAll
 
MAll
 
MAll
 
MAll
 
MATl
 
MAll
 
MAll
 
MAll
 
MAll
 
MATl
 
MATl
 
MAll
 
MAll
 
MATl
 
MATl
 
MATl
 
MAll
 
MAll
 
MATl
 
MATl
 
MAll
 
MAll
 
MAll
 
MAll
 
MATl
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 
MAll
 

1Ill"' Q-Seal Connector Modified 
Modification. 1/4" Reducing Union Cross 
Mod, 92185A115.1ot 001 
CorCainment Vessel 
4-«l KEENSERT
 
INSERT 8-32
 
Fastener. 8-32 captive 
Fastener, M6 captNe
 
Scnlw, thumb, 10-32.1 38
 
7" Thnladed Rod and NlAs
 
6-32 inserts 
I Q-32Inserts 
118 Panhead SCI9W 
118 Panhead SC19W 
55 NA5 620 flat washer 
Flat Washer, Red O.D , #4 
Flat Washer, 16, 143" ID•. 267" 00
 
SS machine screw nut 
55 machine screw 
Blilon Head Socket Cap SCI9W, 5116" - 18 unc x 5/8"19 
SHCS M2 x 04mm • 10rnm long 
Socl<etHead Cap Screw;M3;8mm length;5mmPitch 
SS lIathead phillips machine screw 
Flathead phillips screw 
HexNul; 114-20
 
SS Flat Washer 114" SCIeW size 
SHCS 4-«l x .25" (55) 
SHCS 4-«l x .25" (SS) 
Sa1!ws. 4-40 x 5/1619
 
SHCS 6-32.75 (55) 
SHCS 8-32. S" 55
 
SHCS 8-32 x .75" '9
 
SHCS 8-32. 1",55 
Screw,55. SHCS, 4-40 x 7/16
 
Screw8-32 • 21/2
 
FHSCS 6-32 thread;l8-8SS. 31819
 
Bolt;1/4-20 x63
 
SHCS M3 Thread 12rnm long 

18-8 SS Washer, DIN 125 M2 sz.22rnm 10, 5mm00, .25mmthk 
WASHERS, SEALING 
WASHER, SEALING 
WASHERS, SEALING 
&-32 x 1/4" long SS Set screw 
,-.. Hook & loop 
Washer 4-40
 
4-40 Self-elinching Nut 
Nul, Self Clinch1ng 
PEMNUT, 118-32
 
SSnut 
Insert 
Insert, #8-32 # 1146-832·A-AAAA 
Insert 
Insert 
Insert 
Insert 
Insert 
Threaded lnsert A286 

100
 
100
 
2.00
 
100
 
100
 
700
 

3700
 
1000
 
2.00 
400
 

10000
 
100.00
 
10000
 
10000
 

800
 
1.00 
100
 

1500
 
1.00 

10000
 
400
 
200
 
200
 
500
 
100
 
100
 
200
 
100
 
200
 
400
 
4.00
 
400
 
400
 

1000
 
10.00
 
100
 
100
 

13 00 
20.00 

1.00
 
100
 
100
 
400
 
100
 

1000
 
900
 

1300
 
1000
 
1000
 
2.00
 
200
 
400
 
600
 

1300
 
1600
 
6100
 
1800
 

8.9100 891
 
44.5200 44 52
 

0.4750 0.95
 
18,105.0000 1810500
 

23000 230
 
29700 20.79
 
13300 4921
 
15800 1580
 
21400 428
 
09825 3.93
 
0.1429 1429
 
0.1483 1483
 
0.1584 1584
 
0.1662 1662
 
0.0175 0.14
 
91200 912
 

10.6500 1065
 
0:3267 4.90
 
03400 0.34
 
01no 17.70
 
00600 024
 
00600 012
 
01550 031
 
00180 009
 
4.6000 4.80
 
20500 205
 
0.1267 0.25
 
0.1267 0.13
 
01700 034
 
64400 2576
 
59300 2372
 
72200 2668
 
90100 3604
 
00380 038
 
0.5390 539
 
49800 498
 
6.1100 611
 
0.1362 1.77
 
11000 2200
 

158900 1589
 
123200 1232
 
10 ll600 10.06
 
0.1725 0.69
 
5.5600 5.56
 
00160 016
 
05122 461
 
055n 7.25
 
06410 641
 
09890 9.89
 

43.0000 66.00
 
2.5800 5.16
 

34.2500 137.00
 
342500 20550
 
35000 4550
 
35000 5600
 
35000 213.50
 

120000 21600
 



085 2FASTNKNll032JT 
085 2FASTNM55183OCA102l 
085 2FASTNNAOO7D-03D08 
085 2FASTNNAS1102E06-12 
085 2FASTNNAS1351N3-10 
085 2FASTNNAS1351N3-12 
085 2FASTNNASl351N3-8 
085 2FASTNNAS1352C04-4 
085 2FASTNNASl352CO~ 

085 2FASTNNAS1352C06-8 
085 2FASTNNAS1352~ 

085 2FASTNNASl352N06-10 
085 2FASTNNAS1352ND6-4 
085 2FASTNNASl352NOlHi 
085 2FASTNNASl352N06-8 
085 2FASTNNASl352N08-12 
085 2FASTNNASl352ND6-16 
085 2FASTNNAS1352N06-24 
085 2FASTNNASl352N06-6 
085 2FASTNNASl352N06-8 
085 2FASTNNAS620Cl0l 
085 2FASTNNAS620C6 
085 2FASTNNAS62OC6l 
085 2FASTNNAS620C8 
085 2FASTNNAS620C8l 
085 2FASTNNAS8103U4 
085 2FASTNPFll~32-2 

085 2FASTNPFll-832-2 
085 2FASTNPFll-M6-2 
085 2FASTNSS-7201-440 
085 2FIlTR6201Kl 
085 2FIlTR6201K5 
085 2FIlTR98SOK22 
085 2FIlTRCFMF1D-44A 
085 2FIlTRCFMNO.l-44A 
085 2FIlTRHAIA-5P-QrnIV 
085 2FIlTRlMF2D-SPY 
085 2FIlTRlPM004-5PE 
085 2GAGES3708K205 
085 2GAGESEA~2SOAF·120 

085 2GAGESU-32709-24 
085 2GAGESU-32709-28 
085 2GASKT2~2~7~70 

085 2GASKT2-246-N067~70 

085 2GASKT2·248-N067~70 

085 2GASKT2·250-ND67~70 

085 2GASKT2-256-ND67~70 

085 2GASKT2~8~7~70 

085 2GASKT3-902-ND67~70 

085 2GASKT3-~7~70 
085 2GASKT86715K649 
085 2GASKT86715K93 
085 2GASKT8969K98 
085 2GASKT8985K614 
085 2GASKT9307K19 
085 2GASKT9307K63 
085 2GASKTORM035D-372OON70 

MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MATl 
MAn 
MAn 
MAn 
MAn 
MAn 
MATL 
MATl 
MATL 
MAn 
MATL 
MAn 
MAn 
MATl 
MAn 
MAn 
MAn 
MAn 
MAn 
MAn 
MAll 
MAn 
MAn 
MAn 
MAll 
MAll 
MAn 
MAll 
MAll 
MAll 
MAll 
MAn 
MAn 
MATL 
MATL 
MAn 
MAn 
MATL 
MAll 
MAn 
MAn 
MAll 
MAn 
MAn 

A286 locking Insert 
M55183DCA102l 
SCREWS M3 X 8MM SFHS 
Fasleners, FHMS-A286 mal'l, 1DO deg. #8-32X 75
 
SCREWS 10-32 X63 SHCS 
SCREWS lD-32 X .75 SHCS 
SCREWS 10-32 X .SO SHCS
 
SHC.S 4-4OUNC-2AX1/4"lG CRES 
Fastner 
Fastner 
SCREWS 4-40 X .SO SHCS
 
SHC5-6-32 UNRC-JA X 0.625 
SCREWS 6-32 X .25 SHCS
 
SCREWS 6-32 X .38 SHCS
 
SHCS, 6-32x.SO", A286 
SCREWS 6-32 X .75 SHCS
 
SCREWS 8-32 X 1.0 SHCS
 
SHCS SIZE 0.164-32 X 1.5OOlG
 
SCREWS 8-32 X .38 SHCS
 
SHCS. 118-32xSO" Ig. 
WASHERS #10 X 032 
WASHER. FLAT,II6,ssn. 
WASHERS 116 X 016
 
Washer, 1/8 X 032 
1/8WASHER 
PanHeadS~ 

10-32 Caplille Fasteners 
6-32 Caplille Fasteners 
M6 Caplille Fasteners 
Sland-{)!f; MalelFemale 114"Ig hex 
VACUUM FilTER 
FilTER ELEMENT 
Muffler, Exhaust for Vacwm. 1/4" NPT Male. Alum, single chb 
Meissner (alpha) fi~er 

Meissner (Vanguard) Fi~er 

Fi~er housing 
Fi~er cartridge 
Chemdyne 0.04mm fi~er 

Pressure Gauge 
STRAIN GAGES 
Flow Meter 
Flow Meter 
O-RING 
NBRo-ring 
NBRo-ring 
NBRo-ring 
NBRo-ring 
NBR o-ring 
ORING 
NBRO-ring 
Buna-N Sheet OOA ourorneter 
Buna-N Sample Pack 
Buna-N Sample Pack
 
EPoM Rubber Sheet; .03 !hi< x 36" wd. 70A ourorneter
 
Rubber Grommet 5116"to
 
Grommet, 112"10' 

O-RING METRIC. 3.SO X 372 000 MM
 

800
 
300
 

25.00 
34.00 
12.00 
4.00 
4.00
 

1000
 
6.00
 

11.00 
6.00 

4800
 
200
 

10.00
 
600
 

31.00 
1.00 

20.00 
8.00 

60.00
 
1100
 
42.00
 
1600
 
6.00 

69.00 
2.00
 
900
 
3.00 
7.00 
6.00
 
100
 
100
 
1.00
 
300
 
2.00
 
400
 
1.00
 
600
 
1.00 
1.00 
1.00 
1.00
 

5300
 
2.00 
1.00
 
100
 
4.00 
2.00 

90.00 
19.00 

1.00 
1.00 
1.00 
5.00 
4.00 
3.00 

500.00 

15DDDD 12000
 
185DDD 5550
 

1.8500 4625
 
lD9DD 37 D6
 
0.3700 444
 
03700 1.48
 
03500 1.40
 
030DD 300
 
01500 090
 
03500 385
 
03DOO 180
 
0340D 1632
 
0.29DO 058
 
0300D 300
 
03100 186
 
03700 11 47
 
03700 037
 
0.7S00 1500
 
03200 256
 
03400 2040
 
0.0500 055
 
0.0500 210
 
oOSOO 080
 
00500 030
 
0.0500 345
 
1.DDDD 200
 
0.7700 693
 
06700 201
 
08800 616
 
3.1500 1890
 

77.9200 77 92
 
42.1500 4215
 
6.2100 621
 

24.6000 "380
 
263000 5260
 

395DDDD 1,58000
 
27.3000 "130
 

117.1800 70308
 
263200 2632
 

71100 711
 
369.0000 36900
 
369.0000 36900
 

04757 25.21
 
116SO 233
 
1.3600 136
 
14500 145
 
1.82SO 730
 
688SO 1377
 
0.2807 2526
 
0.2932 557
 
6.6600 666
 
8.4300 843
 
8DDDD 800
 

122200 61 10
 
01525 061
 
0.2200 066
 
1.2800 64000
 



085 2GASKTSPNBR062AD MATl Durometer 12><12 1.00 142500 1425
085 2INTGC24-PIN MATl IC Socket, 24 pin 4.00 1.2300 4.92085 2INTGC296-11599-1-ND MATl IC single irwerter 500 05000 250
085 2INTGC296-11603-1-ND MATl IC BUS Bufrtlr gate 3.00 05000 150
085 2INTGC296-1193-1-ND MATl IC 3-8 line DecodIDemux 16-soic 5.00 0.3900 195
085 2INTGC296-12164-1-ND MATl IC Dual BUS Buff gate 500 0.4800 2.40085 2INTGC296-12790-5-ND MATl IC shill register 5.00 04900085 21NTGC296-1281G-5-ND MATl IC analog 
245
 

10.00 0.5000 500
085 2INTGC296-'3031-1-ND MATl IC analog MUXlDEMUX 1000 05000 5.00085 2INTGC296-13466-1-ND MATL IC Of' AMP CMOS SGL SPLY SOT23-6 25.00 1.8000 4500
085 2INTGC296-13468-1-ND MATL IC op amp cmos sgl sply 25.00 1.8000 4500
085 2INTGC296-1600-5-ND MATl IC 8-bit shift register 5.00 04500 225
085 2INTGC2~164-5-ND MATL IC .Sa neg adj lin LOO 200 3.9800 796
085 2INTGC296-a274-1-ND MATl IC OCT Buffl dM' 5.00 1.2900 6.45065 2INTGC29lHI335-1-NO MATl IC OCT BufflDM' 5.00 08700 435
085 2INTGC74ACOO MATl Integrated Circui15 3.00 05000 150
085 2INTGC74AC02 MATl Integrated Circuit5 1.00 0.4200 0.42085 21NTGC74AC32 MATL Integrated CIrcuits 500 0.5000 250
085 2fNTGC74ACT32SC MATL IC. Quad 2-lnpUl OR Gate. SMT 500 0.4800 240
085 2INTGC74HC238 MATl Integrated Circu~ Decoder 2.00 0.5000 100
085 2INTGC74HC4514N MATL Integrated Circuit Decoder 2.00 1.6100 322
085 2INTGC900-0686 MATl IC Socket, 24-Pin Right Angle 4.00 2.5000 10 00 085 2INTGCAD8628AR MATl OP-Amp 18.00 16500
 29.70085 21NTGCADS7816ECCT-NO MATl IC 12-bi1sampling AID 8-MSOP 1.00 5.3600 536
085 21NTGCADS7816ECT-NO MATl IC 12-bi1HS 500 42500 21.25
085 2INTGCADS7l144EB-ND MATl 12-bi1 8 channel AID 20.oS0P 2.00 7.0000 1400
085 2INTGCADS7l144EB-ND MATl 12-b~ 8 channel AID 2D.oSOP 4.00 70000 2800
085 2INTGCAOS7844NB-ND MATl IC 12bi18 chan 200khz 10.00 65800 6580
085 2INTGCAOS7844N-ND MATl 12-b~ ~han 200khz 2G-5S0p 4.00 55800 2232
085 2INTGCCD74HCl54M MATl Demux Decoder 4-16
 300 0.4800 1.44085 21NTGCCD74HCT4514E MATl Integrated Circuil 3.00 2.0000 600
085 2INTGCCIL353 MATL Integrated Circui1 600 0.4450 267
085 2INTGCCTX175-ND MATl OSC clock 40mhz 1000 24610 24.61
085 2INTGCCTXl99-ND MATl o..cillator 20mhz 1000 2.4610 2461
085 21NTGCDAC7612UB MATl IC,12Bi1D/A 100 63000 630
085 2INTGCDAC7812UB-ND MATl rc12-bi1duaVser DIA Il--S01C 1000 5.6600 5660
085 2INTGCDAC7612UB-ND MATl IC 12-bi1duaVser O/A Il--SOIC 400 5.6600 2264
085 2INTGCDAC7612U-ND MATl 12bi1DuaVser D/A Il--soic 200 53800 10.76
085 2INTGCOSl267-10 MATl Integrated Circui1 700 35000 2450
085 2INTGCDS8921AN-ND MATL IC Line DRVIRCVR Diff pair 80,
 5.00 17700 885
085 2INTGCDS8921ATM-ND MATl IC Line drvlrcvr 500 19200 960
085 2INTGCDS89C21TM MATL RS422 driver 1700 2.9000 49.30085 2INTGCINA118UB-ND MATl IC low pwr instru amp 3000 8.3553 25066
085 21NTGCINA169NA/25OCT-ND MATL IC monitor cur~hunt SO.OO 20700 103 SO
085 2INTGCINA326EAl2K5CT-NO MATl IC ins! amp 10drft CMOS Il--MSOP 500 36500 1825
085 21NTGCIPS021L MATl IC Mosfet 3200 1.3900 4448
085 21NTGCIPS021L MATl IC Mosfet 400 13900 556
085 21NTGCIPS511G MATl MosfetSwitch 5.00 2.0300 10.15085 2INTGCLM2703MF-ADJCT-ND MATl IC COny ocroc micpwr SOT23-S 200 2.5100 502
085 2INTGCLM337IMPCT-NO MATl IC Negative Adj lA 500 13500 675
085 2INTGCLP2982AIM5-5 OCT-NO MATL IC Reg LOO micropower 4.00 1.2400 496
085 2INTGCLP2985IM5-5.0 MATl Regulator 5.00 1.2400 620
085 2INTGCLP2986AIM-5.0 MATl 5V regulator 200 23600 472
085 21NTGCLT1613CS5-ND MATl IC DClDC COny sngl-<:ellSOT23-5 100 3.5000 350
085 21NTGCLTl88OCS5-ND MATl IC OPAMP R-RiOUT PICOIIN SOT23-5 300 3.6300 1089
085 21NTGCLTCl 150
 MATl Integrated Circui1 400 1.0000 400
085 2INTGCLTCl861UMS MATl 12-bi13V 2-ch lSOksps AOC 500 40000 2000
 



085 2lNTGCLTCl865lACMS MATL 16-bil3V 150ksps 2-<:11 ADC in MSOP 500 95000 4750
085 2INTGCLTCl966CMS8 MATL Corr.erter, RMSIDC 2500 39012 9753
085 21NTGCLTCl983ES6-s-ND MATL IC charg pump reg illY 4.00 36000 1440
085 21NTGCLTC2050HVCS5 MATL AMP, LOW OFFSET, PRECISION 9.00 19922 17 93
 085 21NTGCMAX4OOCSA MATL OP-AMP 60.00 95400 57240
085 2INTGCMM74HCl54WM-ND MATL IC 4-16 LINE DECODER S024 1000 13200 1320
085 2INTGCMMBT2222AFSCT-NO MATL Transistor GP NPN AMP 50.00 01440 720
085 2INTGCNC7S04M5X MATL IC Irr.erter 5.00 03800 190
085 2INTGCNDS9435ACT-NO MATL Msofet P-Ch JOv 5.00 09500 475
085 2INTGCOP284ES MATL OP-Amp 500 68600 34JO
085 2INTGCOP291 GS MATL OP-Amp 10.00 34500

085 2INTGCOP484ES MATL OP-Amp 

3450
 
500 128700 6435
085 2INTGCOPA2363IDGST MATL AmpOP 100 30400 304
085 2INTGCOPA336NACT-NO MATL IC micro pwropamp SOT-23-5 300 1.6800 504
085 2INTGCOPA445AP MATL Integrated Cin:uit 600 71200 4272
085 2INTGCPl5A1OOW MATL Analog Switch 5.00 21700 1085
085 21NTGCPlSAl00W MATL IC QUAD SPOT ANLOG SW 300 21600 648
085 2INTGCPIC12F675-IIP-ND MATL IC MCU CMOS nashbase 1000 20800 2080
085 2INTGCPIC18F242-IISO-ND MATL IC MCU Flash 8KX16 300 77800 2334
085 2INTGCPIC18F242-IISP MATL IC, MCU Flash AID 28 DIP 700 8.0800 5656
085 2INTGCPIC18F252-I/SP-ND MATL IC MCU nash 400 84800 3392
085 2INTGCPCllU501M2ZP MATL Regulator 1000 08100 810
085 2INTGCREF200AU-ND MATL IC dual I soun:eJsink 8 SOIC 100 52200 522
085 2INTGCREF3040AIDBZT MATL IC4096VRes 300 15000 450
085 2INTGCREF3040AIDBZTCT-NO MATL IC volt "'f CMOS Ip 501-23-3 400 1.4000 560
085 21NTGCREG 113NA-513K MATL rEGULATOR 10.00 42800 4280
085 21NTGCREG113NA-513K MATL rEGULATOR 500 42800 2140
085 21NTGCSN74ACTll 0 MATL IC. 3 in Pos-And gate 300 03900 117
085 21NTGCSN74LVC2GOODCTR MATL IC, Dual 2";n Pos and gate 3.00 04000 120
085 2INTGCSN74lVC2G08DCTR MATL IC Dual 2 in Pos and Gate 300 04000 120
085 21NTGCSN74LVC2G 157DCTR MATL IC 2-1 line Mux 300 04000 120
085 2INTGCX909-ND MATL Resonator 10.00 0.6750 675
085 2INTGCX9110TVl4-ND MATL IC DCP lOOk 1024tp 14tssop 400 33126 1325
085 2INTGCX9110TVl4-ND MATL IC DCP lOOk 1024tp 14tssop 5000 33126 16563
085 2LEDOOl60-1493-ND MATL Super Bri9ht red-orange LED's 20000 02900 5800
085 2LEDOOBRll02W-TR MATL LED, Clear Red 2500 02100 525
085 2LEDOOCCL-LX45GT MATL LED chip 9Alen transp 600 00417 025085 2LEDOOCMD67-21UWClTR8 MATL Clear, White LED, SMd 400 30000 1200
085 2LEDOOFRl10SW-TR MATL LED, Clear Red 2500 04536 1134
085 2LEDOOFRll13F-TR MATL LED, clear red 2500 03520 880
085 2LEDOOLTL-l0223W MATL RED LED JOOO 00980 294
085 2LED00P391-ND MATL Led greenlgm diffused (white) RND 20.00 05400 1080
085 2LEDOOQTLP650D2TR MATL LED HI EFF RED DIFF SMT 1206
 200 03750 075085 2LEDOOQTLP650D2TRCT -NO MATL LED HI Elf Red diff 500 03780 189
085 2LEDOOQTLP650D4TR MATL LED GREEN DIFF SMT 1206
 600 03767 226
085 2LEDOOQTLP650D4TRCT -NO MATL Led gl1!en diff 10.00 03780 378
085 2LEDOORL5-R12008 MATL Red LEOS 3700 0.5000 1850
085 2LEDOOSSF-LXH2579OGD MATL 2 5 x 7 g""", LED 300 06300 1.89085 2LEDOOTLCR5800 MATL T-1 3/4 Red Clear Non-Diff 100 0.2400 024085 2MEASDDM640IPISCH4IA-1445-PO MATL Rm PROBE, 14"LG, THERMOMETER SENSOR HD, 4 DIG LCD, BAITY HD 100 2512500 25125
085 2MHAROOO5513-R2 MATL 3.7"x 3.7" fiber optic panel 400 1081700 43268
085 2MHARDOO5514-R2 MATL Fiber Optic Panel, woven; 2.6"a.84", 4 layers 300 980500 29415
085 2MHARD02J07 MATL S-Video Cable 200 79900 1598
085 2MHARD0326081CR0412HB~70 MATL DC Tubeaxiaf Fan 100 136800 1368
085 2MHARD07AKT007 MATL Spanner W",nch 1.00 970000 9700
085 2MHARD07-eFL.ool MATL Ri9ht angle clamp 400 250000 10000
085 2MHARD07HFPOO2 MATL Filter Holder, 80mm 100 510000 5100
 



085 2MHARD07HVB053 MATL V-Block Component Holder 
085 2MHAROO7LHAOOl 
085 2MHARD07LHF005 
085 2MHAROO7MGSS03 
085 2MHARD07OCN883 
085 2MHARD07ORNOO3 
085 2MHARD07PCH513 
085 2MHARD07PHS513 
085 2MHARD07RMSOOl 
085 2MHARD07RMSOO2 
085 2MHARD07-XYS-S04 
085 2MHARD104-7 
085 2MHARD110341 
085 2MHAR0178PR814 
085 2MHARD2089 
085 2MHAR0224004 
085 2MHAR0224010 
085 2MHARD225004 
085 2MHARD225OO5 
085 2MHAR0225006 
085 2MHAR0225OO7 
085 2MHAR0225008 
085 2MHAR022S010 
085 2MHAR023100 
085 2MHAR0244844M 
085 2MHAR024D5.JOOOXT-1 
085 2MHAR0265-2802 
085 2MHAR029-53-101-10 
085 2MHAR03225T2 
085 2MHAR03225T4 
085 2MHAR0324010 
085 2MHAR0324015 
085 2MHAR0324020 
085 2MHAR032885Kll 
085 2MHAR033206CA-NO 
085 2MHAR033925K51 
085 2MHAR035145K81 
085 2MHAR0354001 GY 
085 2MHAR03755T12 
085 2MHAR03795T35 
085 2MHAR041-145DA 
085 2MHAR04Bl0CLG-lSl00MMCR 
085 2MHAROSOl5KCT-NO 
085 2MHAROSOl6KCT-NO 
085 2MHARD51093-20917065OO2-NO 
085 2MHARD516L1115 
085 2MHARD52-062AA 
085 2MHARD5415Kll 
085 2MHARD5415K14 
085 2MHARD683-0103 
085 2MHARD6916CA-N0 
085 2MHARD7141 
085 2MHARD7·345-2PP-BA 
085 2MHARD83054 
085 2MHARD839-a003 
085 2MHARD639-8005 
085 2MHARD8574K32 

MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATL
 
MATl
 
MATl
 
MATL
 
MATL
 
MATl
 
MATl
 
MATl
 
MATl
 
MATL
 
MATL
 
MATL
 
MATl
 
MATL
 
MATL
 
MATL
 
MATL
 

Adjustable Lens Mount 
Lens Holder 
Beamsplitler Main! 
SOmmRail Canier 
SOmmOptical Rail, 0.5m 
Post Holder, 12mm, M6 
Post Holder, LSOmm,D12mm, M6 
Post, 4Omm, M6 
Post, 6Omm,M6 
X-Y Translation Stage 
SS IIowsensor, 0-5 VOC 
Planetary gearflead GP 22 A 
Bausch + Lomb magna VIsor 
Standoff. male. female 
Fuse, Fasl2AG Axial 4A 
Fuse, Fasl2AG Axial lOA 
Fuse, Fast 2AG 4A 
Fuse, Fast 2AG SA 
Fuse, Fast 2AG 6A 
Fuse. Fast 2AG 7A 
Fuse, Fast 2AG 8A 
Fuse, Fast 2AG lOA 
Tamco Lab Mixer 
ELECTRICAL OUTLET STRIP 16 OUTLETS-48 INCH LONG
 
OCIDC Converter 
LEO Indicator Lamp 
Tool 
Loop Straps, Rubber Cushioned. 114"10 x 112"WO 
Loop Straps, Rubber Cushioned, 112"10 X 112"WO 
Fuse. Fast3AG lOA 
Fuse, Fast 3AG 15A 
Fuse, Fast 3AG 20A 
NOZZLE, 60 DEGREE SPRAY ANGLE , NPT MALE 
IC adaplar lor SOT-23-6 
NOZZlE 
HEAT EXCHANGER 
Fuse. Block 3AG 
Oval Sleeve 
Polyprupylene carboy wlSpi90t 
Eurolech task chair. blue 
Linear Activator 
PC test point Mini 
PC test point compact 
PGA Socket 
KFM Ma9nifier 
Rubberrnaid Cart, Gray 
Wonn Drive Hose & Tube Clamp, 7116"10 x 25132"WD 
Wonn Drive Hose & Tube Clamp; 11116"10 x 112"WO 
Toggle switch 
Pml~bd 16 pin discrete 
Round Instrument Handle 
HEAT SINK 
120 senes CorMlfSion Kit 
Hex MaIeIFemale, 4-40 Thread. 5/8" Ig, Standoff 
Hex MaleJFemale 4140Thread. 318"1gStandoff 
Polycarbonate sheet, 12" x 12". clear
 

1.00 
1.00 
2.00 
1.00 
2.00 
1.00 
2.00 
4.00 
4.00 
4.00 
1.00 
2.00 
1.00
 
100
 
8.00 

14.00 
10.00 
10.00 
10.00 
10.00 
10.00 
10.00 
10.00
 
100
 
1.00 
2.00 

10.00 
1.00 

SO.OO 
SO.OO 
10.00
 
1000
 
10.00
 
500
 

1000
 
500
 
100
 

10.00
 
4300
 

1.00
 
200
 
1.00
 

SO.OO
 
2.00
 

1200
 
100
 
100
 

1000
 
10.00 
10.00 
2.00
 

2000
 
2.00 
100
 

10000
 
10000
 

100
 

86.0000 8600
 
91.0000 9100
 
39.0000 7800
 

162.0000 162.00
 
79.0000 15800
 
900000 9000
 

1110000 moo
 
29.0000 11600
 
9.0000 3600
 
9.0000 36.00
 

329.0000 32900
 
479.0000 95800
 
999900 9999
 
27.3000 2730
 

1.7900 1432
 
03800 532
 
03800 380
 
0.2600 260
 
0.2600 2.60
 
02600 260
 
0.2600 260
 
02600 2.60
 
02600 2.60
 

206.2300 206 23
 
49.9500 4995
 

173.2500 J.;6SO
 
29000 2900
 
60600 6.06
 
0.1582 791
 
0.2004 1002
 
0.7000 700
 
0.7000 700
 
09100 910
 
7.6700 J835
 
15840 1584
 
9.3600 4680
 

282.9400 26294
 
0.4400 440
 
1.0221 4395
 

366600 36.66
 
891000 178.20
 

1,500.0000 1,500 00
 
0.2460 1230
 
0.2300 046
 
4.8600 58 32
 

2238000 22380
 
1143900 114.39
 

0.5570 557
 
05680 568
 
4.3800 4380
 
4.1100 822
 
26200 5240
 
2.1300 426
 

1SO.4OOO lS040
 
0.4061 40 61
 
0.4481 4481
 

170500 1705
 



085 2MHARD8574K57 
085 2MHARD8625K29 
085 2MHARD87~1 

085 2MHARD8876-T13 
085 2MHARD90945A705 
085 2MHARD9094Kl63 
085 2MHARD9160 
085 2MHARD9160 
085 2MHARD9163 
085 2MHARD9164 
085 2MHARD922309 
085 2MHARD92320A201 
085 2MHARD923252-ND 
085 2MHARD923253-1 
085 2MHARD92945Q.{)1-36-1 
085 2MHARD98380A470 
085 2MHARD99040A410 
085 2MHARDA6-15 
085 2MHARDADAPTOR 
085 2MHARDALUMINUMPLATE 
085 2MHARDALUMINUMTUBE 
085 2MHARDAU-12 
085 2MHARDAW2OOS/12-A 
085 2MHARDAZ9471-1C~OE 

085 2MHARDB3W-l002 
085 2MHARDB6B5-RB10-13 
085 2MHARDB68S-SRl 010-13 
085 2MHARDB7101425T 
085 2MHARDBELLOWSOl 
085 2MHARDCl X&-24VDC 
085 2MHARDC-48510-00 
085 2MHAROCBL1O-SM 
085 2MHARDCBLSM1-10 
085 2MHARDCHA16G-ND 
085 2MHARDCKNl296-ND 
085 2MHARDCKNl298-ND 
085 2MHARDCKN1J02-ND 
085 2MHARDClB-053-11 B3A-B-A 
085 2MHARDCOASV4FRF 
085 2MHARDCOTABM2F 
085 2MHAROCS11212-BT 
085 2MHARDCTl6A-20-JO 
085 2MHARDCTJ3-O-<l4 
085 2MHARDCTJ-30-12 
085 2MHARDCWT3813 
085 2MHARDD38999120FA35SN 
085 2MHARDD3899912OFE6SN 
085 2MHARDD38999120FG75PN 
085 2MHARDDT3120 
085 2MHARDED4308-ND 
085 2MHARDF13O 
085 2MHAROF170 
085 2MHARDF19O 
085 2MHARDF32C5-231 
085 2MHARDF32C5-78 
085 2MHARDF55-531 
085 2MHARDFRA-5FT 

MAn
 
MATL
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MATL
 
MATL
 
MAn
 
MAn
 
MATL
 
MATL
 
MATL
 
MAn
 
MATL
 
MAn
 
MATL
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MATL
 
MAn
 
MAn
 
MAn
 
MAn
 
MATL
 
MAn
 
MATL
 
MATL
 
MATL
 
MAn
 
MAn
 
MAn
 
MAn
 
MAn
 
MATL
 
MAn
 
MAn
 
MAn
 
MATL
 
MATL
 
MAn
 
MAn
 
MATL
 

Polycarbonate Sheet, 24" " 24", clear 
Viton Sheet 12"1<12"".187" 
Subminiature Locking llMlr Toggle Switch 
Tubing Clamps 
Washer, flat, SS #2 
Ground Rod- 440C S.S.- 375"dia, 3'Ig 
Spacer, nylon 
Spacer, nylon 
PROTo-BOARD 14116SOIC 16PIN SIP 
SOIC 
Solderiess breadboam 
Standoff SS 1/8"" 1/4" 
Super strip alloy contacts 
Soldetless breadboam Strip 
SINGLE ROW HEADER PINS 
Dowel Pin SS 118"dia 

Washel5, Precision Shim; 3116" shaft 10, 0.010" thk le:8 SS 
ULTRA PRECISION SHAFTING 
Proto:ype Cin::uil808m 
6061 AI plale .250 lhk ,,24" 1<24" 
Aluminum Tube 8",,8"1<500wall IhI<" 36"lg 
Shaft Extension 
DC-DC COlM!rter, 12VOC OUT 200W 
Relay 
KEYSWITCH 6MM MOM 230GF SEALED 
Ball 5...-.- Assembley 
Ball Screw Assembley 

4-40 " 19 Thumbscrew 
BELLOWS, CUSTOM DESIGNED 
Cartridge Heater 1/8" dia 24v DC 60w 12" SSOB Leads 
Cover Glass 22x22mm 
15 Pin Cable 
1011. 9pin Connect 
16 PII~ RIGHT ANGLE WIRE WRAP HEADER 
Swnch Dip Top Slide 
Swnch Dip Top Slide 
SWnC!lDip Top Slide 
Thermal cirt:un protectors 
S-Yicleo 4pin female 10RCA female adapter 
T-adapter BNC male 10 2 BNC female 
Cabinet Champion 
Temp Controller 
Mounting Rail 
Metal Rail 
Solder Sleeves 
Wall Mount Receplical 
Wall Mount Receptical 
Wall Mount Receptical 
Color Frame Grabber 
8 PIN DUAL IN LINE WIRE WRAP SOCKET 
Internal focus module 130mm working distance 
Internal focus module 170mm working distance 
Internal focus module w/l95mm work dist 
Ben, no-slip, drive 
Ben, no-slip, drive 
Single finer holder 
BenOrive 

1.00 
1.00
 
100
 
100
 

17.00
 
100
 

226.00 
4.00 
1.00
 
500
 
2.00
 
600
 
3.00 
2.00
 
500
 
6.00
 
300
 
1.00
 

3200
 
1.00 
1.00 
1.00 
1.00 

1200
 
900
 
2.00
 
2.00
 

1000
 
2.00
 
500
 

26.00 
1.00 
1.00 
5.00
 

1000
 
1000
 
1000
 

5.00
 
3.00 
3.00
 
100
 
100
 
800
 
1.00
 

3800
 
1.00 
1.00 
2.00
 
100
 

3000
 
100
 
1.00 
3.00
 
100
 
2.00
 
200
 
200
 

611500 61.15
 
1520900 15209
 

78700 787
 
4.2500 425
 
00147 025
 

311300 3113
 
01087 2457
 
01087 043
 
63200 632
 
65300 3265
 

218900 4378
 
08700 522
 

218900 6567
 
154400 3088
 
23300 1165
 
01700 102
 
03200 096
 
36200 362
 

112200 35904
 
498.0000 49800
 

988500 9885
 
47.3200 4732
 

2,073.0000 2,073 00
 
11500 1380
 
03167 285
 

345 8200 69164
 
4278200 85564
 

02500 250
 
990.0000 1,98000
 

765500 38275
 
00769 200
 

750000 7500
 
1750000 17500
 

29800 1490
 
1.0500 1050
 
11700 11.70
 
15000 1500
 
00000 000
 

269500 8085
 
59900 1797
 

773000 7730
 
179.0000 17900
 

17.0000 136 00
 
147700 14.77
 
08000 3040
 

342600 3426
 
664600 6646
 

1376500 27530
 
299.0000 29900
 

06300 1890
 
2500000 250 00
 
2500000 250 00
 
2500000 750 00
 

95600 956
 
55200 1104
 

997000 19940
 
286400 57.28
 



085 2MHARDFRG3-032 MATL Sprocket 200 14.0400 2808085 2MHARDFRG3-045 MATl Sprocket 2.00 167400 3348085 2MHARDFRG3-055 MATL Sprocket 2.00 20 8500 41 70 085 2MHARDFRG5-V16 MATL Sprocket 2.00 13.2800 2656085 2MHARDFRG5-V32 MATL Sprocket 2.00 163200 3264085 2MHARDFR-5K MATL Belt splicing kit 1.00 103.9700 103.97085 2MHARDFTMl60 MATl Mini fuled ILtle 34.4mm length 100 375.0000 37500085 2MHARDFTM35O MATL MIni ftxed lube 8lI.3mm 1engtf1 100 375.0000 37500
085 2MHARDFTM500 MATL Fixed tube mini 200 400.0000 80000085 2MHARDGA010305 MATl Fixed lube mini 1.00 375.0000 37500085 2MHARDGA010305 MATL Fixed tube mini 200 375.0000 75000
085 2MHARDGH23SP004 MATl OEM Series Geamead 100 3130000 31300085 2MHAROHF35HA-l MATL C-rnount lens 35mm 100 1370000 13700
085 2MHAROHK5463R4 5l12A MATL Kapton Heater 4.00 260000 10400
085 2MHAROHK5469R7.1l12A MATl Kapton Heater 200 32.0000 6400085 2MHARDKIT-Rl4SP-25-5O MATL Spring Kit For Relief VaNe 6151.00 61500 
085 2MHARDKP-M22 MATL MonochromeCCO Camera 100 495.0000 49500
085 2MHAROl53-002 MAll Camera; 112"formatCCO; wlpower supply 100 8940000 89400
085 2MHAROM81714161-oX MATl Te......nal Block 1.00 39.9100 3991
085 2MHARDM81714161-oy MATL Terminal Block 2.00 193100 3862
085 2MHAROM81714163-22F MATl T"""inal Block 2.00 28.8000 5760
085 2MHAROMABEV1RO MAll Prototype Boards 3.00 568.0000 1,704 00 
085 2MHARDMSV-MBNC~ MAll S-Video 10Male BNC, 611. 200 169500 3390
085 2MHARONASl291Cll6M MATL #6 Nut 3.00 05000 150
085 2MHARONAS620-Cl0 MATl 1I10llatwasher 300 01000 030
085 2MHARONAS620-c4 MATl 114 lIatwasher 64.00 0.1000 640085 2MHARDNAS62O-C6 MATl #6l1atwasher 40.00 01000 400
085 2MHARONKE1212S MATL ComIerter, OC-OC 3.00 8.3300 2499085 2MHARONMH1205S MATl CorNerter, DC-oC ."300 14.0400 4212085 2MHARDNT-5&-529 MATL lens Compact 25mm ftxed 1.00 249.0000 24900085 2MHARDOS-A-l0 MATl OESOlDER WICK 1.00 3.8300 383085 2MHARDP16470-1 MATl Sapphire C-axis Window; 31.7"x3.17"x.2S" 200 1,100.0000 2,200.00085 2MHAROP16470-2 MATL Sapphire C-axis Window; 216"x2 ,16"11..157" 1.00 570.0000 570.00085 2MHAROPl6470-3 MATL Sapphire Coaxis Window; 42"x25"x.197" 2.00 740.0000 1,480 00 085 2MHAROP1647D-4 MATL Sapphire C-axis Window; .7" diam x 1.0mm thick 200 120.0000 24000085 2MHAROP8008S-NO MATl 6mm light touch switch 25.00 0.2192 548085 2MHAROPM-l24 MATL Photo Electric Sensor 100 117000 11 70 085 2MHAROPMS102l105OSl MATl SCREW, MACHINE, 10-32X112" 10000 0.0330 330085 2MHAROPRT60JAN MATL STAINLESS STEEL THERMOCOUPLES 200 690000 13800085 2MHAROPRT97580A MATL MICA BAND HEATER, STAINLESS STEEL 200 168 0000 33600085 2MHAROPRV~94X~1 MATL Pell04 Prototyping Card 200 590000 11800085 2MHAROR10-3 MATL Ball nut lIange 2.00 200000 40 00 085 2MHARDR10-3 MATL Ball nuillange 3.00 20.0000 60.00085 2MHARORl6-4C MATL Ring Terminal 18-22awg 274.00 0.0484 1327085 2MHAROSJT506404 MATl Socket Junction Track -tipcs 7.95100 7.9500
085 2MHAROSM31SO MATL DC Serw Sman Motor 100 699.0000 69900085 2MHAROSM345O MATL Animatics DC Serw 100 1,699.0000 1,69900085 2MHAROS~2~ MATl FINGER GUARD, 4-40, SS, 125 SPAN 300 16:;000 4950085 2MHARDSUMPP MATl Sunpak Mini-Pro Plus Table Tripod 100 21.9500 2195085 2MHAROTQS2CMA MATl Communications Module 100 2610000 261.00085 2MHAROTH-44007-36-T MATl THERMISTOR WITH lEADWIRE 100 34.0000 3400085 2MHAROTH-44007-36-T MAll THERMISTOR WITH lEADWIRE 100 34.0000 3400085 2MHAROU~3122-30 MATL Finberglass heating cord 100 42.0000 4200085 2MHARDU-3270!l-92 MATL ACAdapter 2.00 500000 10000085 2MHARDUF4OO2 MATL Diode 900 01400 126085 2MHAROUSAF19S1 MATl 2" x 2" glass 100 110.0000 11000
085 2MHAROW58-XB1A4I\-5 MATL Circuit Breaker, Thermal, 2SOVACSOVOC, 5 amps 300 30400 912 


